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1. Choose correct answers 
\�¯õÚ Âøhø¯ ÷uº¢öukP. 

(1) WCB system, the maximum magnitude of the measurement 
may be 360° and measurement is taken anticlockwise 

 WCB �øÓ°À Psk¤iUP¨£k® AvP£m\ ÷Põn AÍÄ 360°
BS® ©ØÖ® AÍÃkPøÍ PiPõμ vø\US Gvº vø\°À 
GkUP¨£k® 

(2) QB system, the maximum magnitude of the measurement may 
be 90° and measurement is taken clockwise only 

 QB �øÓ°À Psk¤iUP¨£k® AvP£m\ ÷Põn AÍÄ 90° BS® 
©ØÖ® AÍÃkPøÍ PiPõμ vø\°À ©mk÷© GkUP¨£k®

(3) Both WCB and QB system, the minimum magnitude of 
measurement is 0° 

 WCB ©ØÖ® QB Cμsk �øÓ°¾® Psk¤iUP¨£k® SøÓ¢u£m\

÷Põn AÍÄ 0° 

(A) (3) only (B) (2) and (3) 

 (3) ©mk®  (2) ©ØÖ® (3) 

(C) (1) and (2) (D) (1) and (3) 
 (1) ©ØÖ® (2)  (1) ©ØÖ® (3) 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

2. In which of the following compass graduations are engraved erect? 
G¢u Põ®£êÀ SÔUP¨£mh GÊzxPÒ ÷|μõP ö\xUP¨£mi°¸US®? 

(A) Prismatic compass (B) Surveyor�s compass 

 ¤�\÷©miU Põ®£ì  \º÷Á¯ºì Põ®£ì 

(C) Theodolite (D) Sextant 
 v÷¯õ÷hõø»m  ö\U\ßm 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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3. When the lines form a circuit which ends at the starting point is
called 
\º÷Á ÷PõkPÒ Bμ®¤zu Chzv÷»÷¯ �iÄØÓõÀ AuØS ����������
GßÓøÇUP¨£kQÓx 

(A) Open traverse (B) Closed traverse 

 �iÂÀ»õ mμõÁºì  �iÄØÓ mμõÁºì 

(C) Intermediate traverse (D) Both (A) and (B) 
 Cøh¨£mh mμõÁºì  (A) ©ØÖ® (B) 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

4. The reading is taken by directly seeing through the top of the glass
is done in 
£õºUS® Aø©¨¤À EÒÍ £mhPzvß EuÂ¯õÀ AÍÄPÒ G¢u ÁøP 
Põ®£êÀ £iUP¨£kQÓx? 

(A) Prismatic compass (B) Surveyor�s compass 

 ¤�ì÷©miU Põ®£ì  \º÷Á¯ºì Põ®£ì 

(C) Trough compass (D) Both (A) and (B) 
 mμL¨ Põ®£ì  (A) ©ØÖ® (B) 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

5. The graduations engraved are inverted in 
G¢u Põ®£êÀ AÍÄ SÔ¨¤h¨£mh GÊzxUPÒ uø»RÇõP ö\xUP¨£mk 
C¸US® 

(A) Prismatic compass (B) Surveyor�s compass 

 ¤�ì÷©miU Põ®£ì  \º÷Á¯ºì Põ®£ì 

(C) Trough compass (D) Both (A) and (B) 
 mμL¨ Põ®£ì  (A) ©ØÖ® (B) 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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6. In surveyor compass the magnetic needle floats freely over the 
\º÷Á¯º Põ®£êÀ ���������� «x Põ¢u F] uøh÷¯x® CÀ»õ©À 
ªuUQÓx

(A) Prism  
 ¤�\® 

(B) Graduated ring 

 AÍÄPÒ SÔUP¨£mh ÁøÍ¯® 

(C) Tripod  
 iøμ¨£õm 

(D) Pivot 
 _Ç¾® Aa_   

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

7. The dimension families are specified as  
AÍÃkPÎß Sk®£[PÍõP SÔ¨¤h¨£kÁx? 

(1) Radial 

(2) Angular 

(3) Linear 

(4) Polyline 

(A) (1), (2), (4) (B) (1), (2), (3) 

(C) (2), (3), (4) (D) (1), (3), (4) 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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8. Which method is used for plotting a traverse survey in compass?  
Põ®£êÀ mμõÁºì \º÷Á G¢u �øÓ �»® ö\´¯¨£kQÓx? 

(A) Included angle method  
 Em÷Põn �øÓ 

(B) Paper protractor method 

 PõQu ö|¸USuÀ �øÓ   

(C) Rectangle coordinate method  
 ö\ÆÁP J¸[Qøn¨¦ �øÓ 

(D) Graphical adjustment method 
 ÁøμPø» \�ö\´uÀ �øÓ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

9. Which of the following variations are due to magnetic storms?  
G¢u ÁøP \õ´Âß ©õÖ£õk Põ¢u ¦¯ÀPÍõÀ HØ£kQÓx? 

(A) Diurnal variation (B) Annual variation 

 vÚ\� ©õÖ£õk  Á¸hõ¢vμ ©õÖ£õk 

(C) Secular variation (D) Irregular variation 
 \õº£ØÓ ©õÖ£õk  ^μØÓ ©õÖ£õk 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

10. Find the magnetic declination if the magnetic bearing of the sun at
noon is 186°
|s£P¼À (noon) `�¯Ûß ÷©UöÚiU ¤¯�[ BÚx 186° BP C¸¢uõÀ 
Auß ÷©UöÚiU iQÎ÷ÚåøÚ Psk¤iUPÄ® 

(A) 6° W (B) 6° E 

(C) 16° S (D) 16° W 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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11. Which stations are affected by local attraction? 
RÌPõq® G¢u ì÷håÛÀ ÷»õUPÀ Dº¨¦PÍõÀ £õv¨£øh¢xÒÍx? 

Sl No. Line FB  BB 
Á. Gs. ÷Põk FB  BB 
(a)  AB N 46° E S 46° W 
  AB N 46° E S 46° W 
(b)  BC S 60° 30' E N 61° 30' W 
  BC S 60° 30' E N 61° 30' W 
(c)  CD S 10° 30' E N 9° W 
  CD S 10° 30' E N 9° W 
(d)  DA N 79° W S 79° 30' E 

  DA N 79° W S 79° 30' E 

(A) (a) and (b) (B) (b) and (c) 

 (a) ©ØÖ® (b)  (b) ©ØÖ® (c) 

(C) (c) and (d) (D) (d) and (a) 
 (c) ©ØÖ® (d)  (d) ©ØÖ® (a) 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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12. The more accurate method of plotting a compass survey 
Põ®£ì \º÷Áø¯ vmhªkÁuØPõÚ ªPÄ® xÀ¼¯©õÚ �øÓ 

(A) Parallel meridian method  
 Cøn¯õÚ ö©�i¯ß �øÓ 

(B) Included angle method 

 CßSÑhm ÷Põn �øÓ   

(C) Paper protractor method  
 PõQu ¨öμõmμõUhº �øÓ 

(D) Rectangular co-ordinate method 
ö\ÆÁP J¸[Qøn¨¦ �øÓ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

13. Identify the local attraction source compass survey 
Põ®£ì \º÷Á�°À ÷»õUPÀ AmμõUåÝUPõÚ Põμn[PøÍ Psk¤i 

(A) Building (B) Iron lamp post 

 Pmih®  C¸®¦ ÂÍUS P®£® 

(C) Tree (D) Plastic 
 ©μ®  ¤ÍõìiU 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

14. Convert Q.B into W.C.B. N 20° W 
Q.B ¼¸¢x W.C.B. ©õØÖP N 20° W 

(A) 70° (B) 340° 

(C) 160° (D) 20° 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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15. If the fore bearing of a line is S 43° 30' E, its back bearing will be  
J¸ ÷Põmiß �ß¤¯�[ S 43° 30' E GÛÀ Auß ¤ß¤¯�[ �����
BS®. 

(A) N 43° 30' W (B) N 43° 30' E 

(C) S 43° 30' W (D) N 36° 30' W 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

16. Fore bearing of line �AB� is 60° and that of BC is 130°, then angle B 
is  
AB ©ØÖ® BC ÷PõkPÎß �ßÚõÀ ÷£�[ 60° ©ØÖ® 130° GÛÀ �B�
÷Põn AÍÄ 

(A) 50° (B) 110° 

(C) 190° (D) 240° 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

17. Convert whole circle bearing of 210°30' into reduced bearing 
�ÊÁmh ¤¯�[ 210°30' � ø¯ öμm³ì ¤¯�[ BP ©õØÖP? 

(A) S 30° 30' E (B) S 30° 30' W 

(C) N 30° 30' W (D) N 30° 30' E 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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18. In quadrantal bearing system, bearing of a line varies from 
PõÀ Ámh ÷£�[ �øÓ°À, ÷£�[ AÍÄ GÆÁÍÄ ©õÖ£kQÓx? 

(A) 0° to 360° (B) 0° to 180° 

 0° �uÀ 360°  0° �uÀ 180° 

(C) 0° to 90° (D) 0° N to 190° S 
 0° �uÀ 90°  0° N �uÀ 190° S 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

19. Write the bearing of line AB and line CD 
AB  ©ØÖ® CD ÷PõkPÎß ÷£¯�[øP Psk¤iUPÄ® 

 

   

(A) 219° 45' and 285° 30' (B) 285° 30' and 219° 45' 

 219° 45' ©ØÖ® 285° 30'  285° 30' ©ØÖ® 219° 45' 

(C) 285° 30' and 129° 45' (D) 129° 45' and 285° 30' 
 285° 30' ©ØÖ® 129° 45'  129° 45' ©ØÖ® 285° 30' 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

(1) (2)
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20. If the fore bearing of a line AB is 35° and that of line BC is 15°, then 
the included angle between the line is 
AB & BC ÷PõkPÎß �ßÚõÀ ÷£�[ 35° ©ØÖ® 15° BS®.  AB ©ØÖ® 

BC ÷PõkPÎß Em÷Põn AÍøÁ Psk¤iUPÄ®?  

(A) 20° (B) 50° 

(C) 160° (D) 230° 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

21. Instrument required for levelling is 
©mh AÍUøP ö\´ÁuØS ÷uøÁ¯õÚ P¸Â 

(A) Tacheometer (B) Theodolite 

 ÷hUQ÷¯õ«mhº  v÷¯õhø»m 

(C) Plane table (D) A level instruments 
 uÍ AÍUøP¨ £»øP  ©mh AÍUøPU P¸Â 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

22. Profile levelling is usually done for determining  
¦öμõø£À ö»Á¼[ (£UP÷uõØÓ ©mh AÍUøP) GuØPõP £¯ß£kQÓx? 

(A) Contours of an area  

 Kº £Sv°ß \© E¯μU ÷PõmiøÚ Psk¤iUP   

(B) Capacity of a reservoir 

 Kº }ºz÷uUPzvß öPõÒÍÍÄ Põn   

(C) Boundaries of a property  
 Kº ö\õzvß GÀø»ø¯U Põn   

(D) Elevation along a straight line 
 ÷|º ÷Põmk¨ £õøu°À ©mh E¯μ® Põn 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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23. What is the smallest graduated division in levelling staff? 
©mh AÍUøPU ÷Põ¼À ªPa ]Ô¯ AÍÄ¨ ¤�Ä 

(A) 0.5 m (B) 0.05 m 

 0.5 «mhº  0.05 «mhº 

(C) 0.005 m (D) 0.0005 m 
 0.005 «mhº  0.0005 «mhº 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

24. In Rise and Fall method, the staff reading is greater the point is at 
E¯ºÄ ©ØÖ® uõÌÄ �øÓ PnURmiÀ ìhõ¨�ß (©mh AÍUøPU÷Põ¼À) 
Gkzu AÍÄ E¯μ©õP C¸¢uõÀ A¢u {»¨ ¦ÒÎ ����� BP C¸US® 

(A) Rise (B) Fall 

 E¯ºÄ  uõÌÄ 

(C) Equal (D) Identical 
 \©®  J÷μ ©õv� 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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25. In the case of levelling across a river or lake, the levelling used 
J¸ |v (AÀ»x) H�°ß SÖU÷P G¢u ö»Á¼[ (©mh AÍUøP) 
£¯ß£kzu¨£kQÓx? 

(A) Reciprocal levelling  

 öμê¨÷μõUPÀ ö»Á¼[ (Gv�øh ©mh AÍUøP)   

(B) Fly levelling  
 L¨øÍ ö»Á¼[ (ÂøμÄ ©mh AÍUøP) 

(C) Check levelling  
 uoUøP ö»Á¼[  

(D) Simple levelling 
 GÎ¯ ö»Á¼[ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

26. Back sight and fore sight readings are taken at every set up of
level is  
JÆöÁõ¸ ö»Á¼[ Aø©¨¤¾® (©mh AÍUøP Aø©¨¤¾®) ¤ß£õºøÁ 
©ØÖ® �ß£õºøÁ AÍÃkPÒ ©mk÷© GkUS® ö»ÁÀ (©mh AÍUøP) 

(A) Check Levelling   

 ö\U ö»Á¼[ (uoUøP ©mh AÍUøP) 

(B) Fly Levelling 
 L¤øÍ ö»Á¼[ (ÂøμÄ ©mh AÍUøP) 

(C) Simple Levelling  
 ]®¤Ò ö»Á¼[ (GÎ¯ ©mh AÍUøP)  

(D) Differential Levelling 
 ÷ÁÖ£õmk ö»Á¼[ (÷ÁÖ£õmk ©mh AÍUøP) 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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27. What is the shape of contour lines in case of a valley?  
J¸ £ÒÍzuõUQøÚ SÔUS® Põßmlº ÷PõkPÎß ÁiÁ® GßÚ? 

(A) U shape (B) V shape 

 ² ÁiÁ®  Â ÁiÁ® 

(C) W shape (D) O shape 
 h¤Ò³ ÁiÁ®  K ÁiÁ® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

28. ����� are imaginary lines joining the points of the same height. 
J÷μ E¯μzøu Eøh¯ ¦ÒÎPøÍ CønUS® PØ£øÚU ÷PõmiØS 
���� GßÖ ö£¯º. 

(A) Contour Lines (B) Relief Lines 

 Põßmlº ÷PõkPÒ  �½¨ ÷PõkPÒ 

(C) Survey Lines (D) Grid Lines 
 \º÷Á ÷PõkPÒ  Q�m ÷PõkPÒ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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29. Which of the following are correct about the methods of contouring
by spot levels (Indirect Methods)? 
RÌUPshÁØÖÒ GøÁ ì£õm ö»ÁÀ (©øÓ�P �øÓ) �»©õP Põßmlº 
Áøμ¯ÖUP¨£k® �øÓPÎÀ \�¯õÚøÁ? 

(i) By Squares 
 \xμ �øÓ 

(ii) By Cross Section  
 Qμõì ö\U\ß �øÓ 

(iii) By Tacheometric  
 öhU÷Põö©m�U �øÓ 

(A) (i) only (B) (i) and (ii) only 

 (i) ©mk÷©  (i) ©ØÖ® (ii) ©mk÷© 

(C) (ii) and (iii) only (D) (i), (ii), (iii) only 
 (ii) ©ØÖ® (iii) ©mk÷©  (i), (ii), (iii) ©mk÷© 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

30. If the lower value of contours are inside the bent or loop, it represent 
SøÓ¢u ©v¨£õÚ Põßmlº, ÁøÍÂß AÀ»x ÁøÍÄa _ØÔß Em¦Ó® 
C¸¢uõÀ, AøÁ SÔ¨£x J¸ 

(A) Valley Line (B) Ridge  
 £ÒÍzuõUS  ©ø»�Pk 

(C) Saddles (D) Plane Area  
 ©ø»U SÁk  umøh¯õÚ £μ¨¦ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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31. The vertical distance between two consecutive contours is called as  
Cμsk AkzukzxÒÍ PõßmlºPÎß Cøh÷¯ EÒÍ ö\[Szx E¯μ® 
���� GÚ¨£k®. 

(A) Contouring (B) Contour Line 

 Põßml�[  Põßmlº ÷Põk 

(C) Contour Interval (D) Horizontal Equivalent  
 Põßmlº CøhöÁÎ  Qøh©mh {P� 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

32. Two contours of different elevation do not cross each other except in
the case of  
���� uÂºzx Cμsk Põßmlº öÁÆ÷ÁÖ E¯μzvÀ JßøÓ JßÖ 
SÖURk CÀ»õ©À ö\À¾®. 

(A) Saddle  

 ©ø»U SÁk  

(B) Valley 
 £ÒÍzuõUS 

(C) Overhanging Cliff    
 KÁº ÷í[Q[ Q¼¨ì (öuõ[S® �Pk) 

(D) Vertical Cliff 
 ö\[Szx Q¼¨ì (�Pk) 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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33. Volume of earthwork is calculated by  
©s ÷Áø»°ß PÚ AÍÄ ���� BÀ PnUQh¨£kQÓx. 

(A) Trapezoidal Formula  (B) Prismoidal Formula 

 möμ¨¤\õ´hÀ `zvμ®  ¨�ì©õ´hÀ `zvμ® 

(C) Both (A) and (B) (D) Chezy�s Formula 
 (A) ©ØÖ® (B) Cμsk®  ö\ìê `zvμ® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

34. Prismoidal rule is also known as  
¨�ì©õ´hÀ Âv ���� GßÖ® AøÇUP¨£kQÓx. 

(A) Simpson�s Rule (B) Trapezoidal Rule
 ]®\Ûß Âv  möμ¨¤\õ´hÀ Âv 

(C) Curvature Rule (D) Eulers Rule 
 ÁøÍÄ Âv  B´»�ß Âv 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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35. Trapezoidal formula for calculating storage capacity of a reservoir is 
Kº }ºz÷uUP ÷\ª¨¦ öPõÒvÓÝUPõÚ iöμ¨¤\õ´hÀ Âv (\�ÁP Âv) 

(A) 



 ++++= −132

1 ...
2 n

n AAA
AA

hV   

 



 ++++= −132

1 ...
2 n

n AAA
AA

hV   

(B) ( ) ( )[ ]...2...4
3 31421 +++++++= AAAAAA
h

V n  

 ( ) ( )[ ]...2...4
3 31421 +++++++= AAAAAA
h

V n  

(C) ( )nhhhdA ...21 ++=   
 ( )nhhhdA ...21 ++=   

(D) A = Average ordinate × Length of base  
 A = \μõ\� Bºi÷Úm × AizuÍzvß }Í® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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36. Which among following can be determined by contours?  
Põßmlº �»©õP RÌUPshÁØÖÒ GøÁö¯À»õ® PshÔ¯ �i²®? 

(1) Drainage characteristic  
 ÁiPõÀ £s¦PÒ 

(2) Gradient 
 \õ´Ä  

(3) Ground profile  
 uøμ ÂÁμ® 

(A) (1) only (B) (1) and (2) only 

 (1) ©mk®  (1) ©ØÖ® (2) ©mk® 

(C) (1) and (3) only (D) (1), (2) and (3) only 
 (1) ©ØÖ® (3) ©mk®  (1), (2) ©ØÖ® (3) ©mk® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

37. Which among the following are the uses of contour maps? 
RÌUPshÁØÖÒ GøÁ Põßmlº Áøμ£h[PÎß £¯ßPÍõÁÚ? 

(i) To check the intervisibility of points 
 C¸ Ch[PÐUQøh÷¯¯õÚ ¦»¨£õk AÔ¯ 

(ii) To Locate watershed lines  
 }º¨ ¤�÷©miøÚ PshÔ¯  

(iii) To calculate volumes of reservoirs  
 }ºz÷uUP[PÎß öPõÒÍÍÄ Põn 

(A) (i) only (B) (ii) only 

 (i) ©mk®  (ii) ©mk® 

(C) (ii) and (iii) only (D) (i), (ii) and (iii) only 
(ii) ©ØÖ® (iii) ©mk®  (i), (ii) ©ØÖ® (iii) ©mk®

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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38. A line lying on the surface of the ground with uniform inclination to
the horizontal at all points on it is 
Auß ÷©¾ÒÍ AøÚzx ¦ÒÎPÎ¾®, QøhU ÷Põmkhß J÷μ ^μõÚ 
\�Ähß uøμ¨£μ¨¤À Aø©²® ÷PõhõÚx  

(A) Vertical Contour  (B) Horizontal Contour 

 ö\[Szx Põßmlº  Qøh©mh Põßmlº 

(C) Contour Gradient  (D) Plane Area  
 Põßmlº \�Ä  umøh¯õÚ uÍ® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

39. For the purpose of surveying in a general topographical work with 
the scale of 1 cm = 100 m or more suitable contour interval is  
1 cm = 100 «mhº AÀ»x AuØS® ÷©À GßÓ AÍÄz vmhzxhß J¸ 
ö£õxÁõÚ {» E¸Â¯À \õº¢u £oUS¨ ö£õ¸zu©õÚ \©E¯μU ÷Põmk 
(Põßmlº) CøhöÁÎ 

(A) 0.2 to 0.5 (B) 0.5 to 2
 0.2 �uÀ 0.5 « Áøμ  0.5 �uÀ 2 « Áøμ 

(C) 20 to 30 (D) 3 m and above  
 20 �uÀ 30 « Áøμ  3 «mhº ©ØÖ® AuØS ÷©À 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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40. The contour interval for general topographical map can be computed
by the following rule 
J¸ ö£õxÁõÚ {»¨£μ¨¦ Áøμ£hzvØPõÚ Põßmlº CøhöÁÎ RÌUPsh 
ÂvPÎß£i PnUQh¨£kQÓx.  

(A) m
kmpercmofNumber

25
 (B) m

kmpercmofNumber
45  

                          25                 «                           45                 « 
     |®£º B¨ ö\.«/Q.«        |®£º B¨ ö\.«/Q.«  

(C) m
kmpercmofNumber

50
 (D) m

kmpercmofNumber
55

 

                          50                 «                           55                 « 
     |®£º B¨ ö\.«/Q.«        |®£º B¨ ö\.«/Q.«  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

41. Which is the main parameter used in pseudo-ranging of GPS? 
GPS&ß ÷£õ¼z öuõø»Ä Põn¼À £¯ß£kzu¨£k® �UQ¯ AÍÄ¸ Gx?

(A) Time (B) Distance 

 ÷|μ®  yμ® 

(C) Velocity (D) Frequency 
 ÷ÁP®  AvºöÁs 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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42. Which signal indicate the functioning of the space segment in GPS? 
â.¤.Gì ÂsöÁÎ¨ ¤�Âß £¯ß£õmøhU SÔUS® SÔøP? 

(A) Navigation  (B) Space 

 ÁÈ ö\¾zxøP   ÂsöÁÎ 

(C) Control (D) User 
 Pmk¨£õmk  £¯Úº 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

43. Which country developed the GPS? 
â.¤.Gì&I E¸ÁõUQ¯ |õk Gx? 

(A) USA  

 ².Gì.H (A) Aö©�UP IUQ¯ |õkPÒ  

(B) India 
 C¢v¯õ 

(C) Russia 
 μè¯õ   

(D) Europe 
 ³÷μõ¨ (A) I÷μõ¨£õ  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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44. Which is the most obvious sources of electromagnetic radiation for
remote sensing? 
öuõø» EnºÄUPõÚ ªPÄ® öÁÎ¨£øh¯õÚ ªßPõ¢u PvºÃa_ �»® 
Gx? 

(A) The moon (B) The earth 

 {»Ä  §ª 

(C) The sun (D) The sea 
 `�¯ß   PhÀ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

45. Arrange in sequential order of the following basic processes of
remote sensing.   
öuõø» EnºÂß RÌUPsh Ai¨£øh ö\¯À£õkPøÍ Á�ø\¨£kzvkP. 

1. Transmission of energy from the source towards earth. 
 �»zv¼¸¢x §ªø¯ ÷|õUQ¯ BØÓÀ PhzuÀ.  

2. Interaction of energy with the earth�s surface.   
 ¦Â°ß £μ¨¦hß BØÓ¼ß CøhÂøÚ. 

3. Detection of the reflected/emitted energy by the sensor.  
 GvöμõÎUP¨£mh AÀ»x EªÇ¨£mh BØÓ¼øÚ En�°ß �»® 

PshÔuÀ.  

4. Reflection from the earth�s surface to remote sensors.  
 ¦Â°ß £μ¨¤¼¸¢x öuõø» En�PÐUS GvöμõÎzuÀ.  

5. Conversion of energy received into electronic form of data.  
 ö£Ó¨£mh BØÓø» ªßÚq ÁiÁ uμÄPÍõP ©õØÖuÀ. 

(A) 1, 2, 3, 4, 5 (B) 1, 2, 4, 3, 5 

(C) 1, 4, 3, 2, 5 (D) 1, 4, 2, 3, 5 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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46. The aerial photograph made with the camera axis (or) optical axis
coinciding with the direction of gravity is known as  
JÎ¨£hU P¸Â°ß Aa_ AÀ»x JÎ°¯À Aa\õÚx ¦ÂDº¨¦z 
vø\²hß JßÔ¯ {ø»°À GkUP¨£k® Áõß JÎ¨£h® CÆÁõÖ 
AøÇUP¨£kQÓx? 

(A) the oblique photograph  (B) the vertical photograph 

 \õ´¦÷Põn JÎ¨£h®  ö\[Szx {ø» JÎ¨£h® 

(C) the stereo photograph (D) the tilted photograph 
 �¨£�©õn JÎ¨£h®  \õ´Ä{ø» JÎ¨£h® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

47. The line drawn on a aerial photogrammetric map to represent the
track of the aircraft is known as  
ÁõßP»¨ £õøuø¯U SÔ¨¤h Áõß JÎ¨£h {» AÍUøP {»¨£hzvÀ 
Áøμ¯¨£k® ÷Põk CÆÁõÖ AøÇUP¨£kQÓx?

(A) the focal line (B) the flight line 

 SÂ¯U ÷Põk  ÁõßP»U ÷Põk 

(C) the nadir line (D) the exposure line 
 uõÌ¨¦ÒÎU ÷Põk  JÎ öÁÎ¨£õmkU ÷Põk  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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48. Photogrammetric imaging is a method of recording a  X  dimensional 
view of a  Y  dimensional object scene. Where, X and Y are 
JÎ¨£h {» AÍUøP ÷uõØÖ¸ÁõUP»õÚx J¸  Y  £�©õn ö£õ¸Îß 

Põm]°øÚ J¸   X  £�©õnz ÷uõØÓzvÀ £vÄ ö\´²® J¸ �øÓ¯õS®. 

C[S, X ©ØÖ® Y BÚx 

(A) Three and two respectively  

 �øÓ÷¯ �ßÖ ©ØÖ® Cμsk BS®  

(B) Two and three respectively 
 �øÓ÷¯ Cμsk ©ØÖ® �ßÖ BS®  

(C) Two and two respectively  
 �øÓ÷¯ Cμsk ©ØÖ® Cμsk BS®  

(D) Three and three respectively 
 �øÓ÷¯ �ßÖ ©ØÖ® �ßÖ BS®  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

49. Which act as a medium of transmitting information from the target
to the remote sensing sensors? 
C»UQ¼¸¢x öuõø» EnºÄ En�PÐUS uPÁÀPøÍU Phzx® FhP©õP 
ö\¯À£kÁx Gx? 

(A) Atmosphere (B) Energy source 

 ÁÎ©sh»®  BØÓÀ �»® 

(C) Wind  (D) GPS signal  
 PõØÖ  â.¤.Gì SÔøP  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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50. Spectral responses measured by remote sensors over various
features is referred to as  
£À÷ÁÖ (¦Â°¯À) TÖPÎß «x öuõø» En�PÍõÀ AÍÂh¨£k® 
Aø»©õø» x»[PÀPÒ CÆÁõÖ SÔ¨¤h¨£kQÓx.  

(A) Spectral windows (B) Spectral signatures  
 Aø»©õø»a \õÍμ[PÒ  Aø»©õø» ]Ó¨¦PÒ 

(C) Spectral reflectance  (D) Spectral emittance  
 Aø»©ø» GvöμõÎ¨¦PÒ  Aø»©õø» EªÌvÓß 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

51. GPS satellites broad cast signals from space that are picked up and
identified by GPS receivers. Each GPS receivers that provides 
â.¤.Gì ö\¯ØøPU ÷PõÒPÒ Âso¼¸¢x ]UÚÀPøÍ â.¤.Gì 
�^ÁºPÒ ö£ÖÁuØS®, AÔÁuØS® JÎ£μ¨¦QÓx. JÆöÁõ¸ â.¤.Gì 
�^ÁºPÐ® CuøÚU öPõkUQÓx. 

(A) Latitude and Longitude only   

 QøhÁøμ ©ØÖ® ö|kÁøμ ©mk®  

(B) Latitude and Altitude only 
 QøhÁøμ ©ØÖ® E¯μ® ©mk® 

(C) Latitude, Longitude and altitude only  
 QøhÁøμ, ö|kÁøμ ©ØÖ® E¯μ® ©mk®  

(D) Latitude, Longitude and altitude plus time 
 QøhÁøμ, ö|kÁøμ, E¯μ® ©ØÖ® ÷|μ® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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52. Which of the following are advantages of GPS? 
RÌUPshÁØÖÒ â.¤.Gì � ß |ßø©PÒ GøÁ? 

(i) It is affected by rain, wind or reduced sunlight 
 Cx ©øÇ, PõØÖ® ©ØÖ® SøÓÁõÚ `�¯ öÁÎa\® BQ¯ÁØÓõÀ 

£õvUP¨£kQÓx 

(ii) It provides accurate 3-dimensional positioning information for
natural and artificial features 

 Cx C¯ØøP ©ØÖ® ö\¯ØøPU TÖ£õkPÎß xÀ¼¯©õÚ �¨£�©õn
Chz uPÁÀPøÍU öPõkUQÓx 

(iii) Its position information for natural and artificial features serves
as a prime input to GIS 

 C¯ØøP ©ØÖ® ö\¯ØøPU TÖ£õkPÎß Cuß Chz uPÁÀPÒ
â.I.Gì&US J¸ �UQ¯ EÒÏk BS® 

(A) (i) and (ii) only (B) (ii) and (iii) only 

 (i) ©ØÖ® (ii) ©mk®  (ii) ©ØÖ® (iii) ©mk® 

(C) (i) and (iii) only (D) (ii) only 
 (i) ©ØÖ® (iii) ©mk®  (ii) ©mk® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

53. Which works on the principle of the measurement of distance
between the receiver and the satellite? 
Gx Aø»Áõ[QUS® ö\¯ØøPU ÷PõÐUS® Cøh÷¯¯õÚ yμzøu 
AÍÂk® ÷Põm£õmiß Ai¨£øh°À ö\¯À£kQÓx? 

(A) Theodolite (B) Digital Theodolite 

 v÷¯õhø»m  iâmhÀ v÷¯õhø»m 

(C) Total station (D) GPS 
 ÷hõmhÀ ì÷håß  â.¤. Gì 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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54. Who operates control segment of GPS? 

GPS �ß Pmk¨£õmk ¤�ÂøÚ C¯USÁx ¯õº? 

(A) US military  (B) Russian military 

 Aö©�UP μõqÁ®  μè¯ μõqÁ® 

(C) Indian military (D) United Nations 
 C¢v¯ μõqÁ®  IUQ¯ |õkPÒ

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

55. Which object launched specifically to orbit the earth for GPS? 
â.¤.Gì&À §ªø¯a _ØÔÁμ HÁ¨£mh ö£õ¸Ò Gx? 

(A) Satellites (B) Receivers 

 ö\¯ØøPU÷PõÒPÒ  Aø»Áõ[QPÒ 

(C) User segments (D) Control units 
£¯Úº ¤�ÄPÒ Pmk¨£õmk A»SPÒ

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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56. Which instrument is a combination of EDM, electronic theodolite
and microprocessor? 
EDM, G»UmμõÛU v÷¯õhø»m ©ØÖ® ø©U÷μõ ¤μõ\\º BQ¯ÁØÔß 
TmkU P¸Â Gx? 

(A) Total station (B) Tacheometer 

 ÷hõmhÀ ì÷håß  ÷hU÷Põ «mhº 

(C) Distomite (D) Tellurometer 
 iì÷hõø©m  öhÀ¾÷μõ«mhº 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

57. What is EDM meant for?  
EDM Gß£uß Aºzu® GßÚ? 

(A) Electronic Data Measurement 
 G»UmμõÛU ÷hmhõ ö©åºö©sm 

(B) Electronic Distance Measurement  
 G»UmμõÛU iìhßì ö©åºö©sm 

(C) Electronic Digital Measurement 
 G»UmμõÛU iâmhÀ ö©åºö©sm 

(D) Electronic Data Meter 
 G»UmμõÛU ÷hmhõ «mhº 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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58. Which measurement can be able to read electronically in manual
total station? 
øP�øÓ ÷hõmhÀ ì÷håÛÀ G¢u AÍÃk ªßÚq ÁiÂÀ ©mk÷© 
£iUP �i²®? 

(A) Horizontal angle (B) Vertical angle 

 Qøh©mhU ÷Põn®  ö\[SzxU ÷Põn® 

(C) Slope distance (D) Co-ordinates 
 \õ´Ä öuõø»Ä  B¯[PÒ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

59. Which of the following measurements can be taken by total station?
RÌUPsh AÍÃkPÎÀ ÷hõmhÀ ì÷håÚõÀ GkUP �i£øÁ GøÁ? 
(I) Angular measurements 
 ÷Põn AÍÃkPÒ 
(II) Linear measurements 
 }m] AÍÃkPÒ (}mh»ÍÄ) 
(III) Elevation measurements 
  ©mh AÍÃkPÒ 

(A) (I) and (II) only (B) (II) and (III) only  

 (I) ©ØÖ® (II) ©mk®  (II) ©ØÖ® (III) ©mk® 

(C) (I) and (III) only (D) (I), (II) and (III)  
 (I) ©ØÖ® (III) ©mk®  (I), (II) ©ØÖ® (III)  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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60. What is the most precise instrument designed for the measurement
of horizontal and vertical angles? 
Qøh©mh ©ØÖ® ö\[SzxU ÷Põn[PøÍ AÍÂkÁuØPõÚ ªPz 
xÀ¼¯©õÚ P¸Â Gx? 

(A) Survey chain (B) Dumpy level 

 \º÷Á \[Q¼  h®¤ ö»ÁÀ 

(C) Digital Theodolite (D) Telescope 
 iâmhÀ v÷¯õhø»m  öuõø»÷|õUQ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

61. Errors which are not eliminated by repetition method in Theodolite 
are 
v÷¯õhø»miß v¸®£ ö\´²® �øÓ°À \� ö\´¯ C¯»õu ¤øÇPÒ 
GøÁ? 
(i) Slip 

 uÁÖ (or) ¤øÇ 
(ii) Displacement of signal 
 ø\øP°À {ø» ©õØÓ® 
(iii) Vertically of vertical axis 
 ö\[Szx Aa_ ö\[SzuõP 

(A) (i) and (ii) only (B) (i) and (iii) only 

 (i) ©ØÖ® (ii) ©mk®  (i) ©ØÖ® (iii) ©mk® 

(C) (ii) and (iii) only (D) (i), (ii) and (iii) only 
 (ii) ©ØÖ® (iii) ©mk®  (i), (ii) ©ØÖ® (iii) ©mk® 

(E) Answer not known 
 Âøh öu�¯ÂÀø»
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62. Which one of the following temporary adjustments of theodolite is
done to eliminate parallax error? 
÷uõØÓ ©õÖ£õk ¤øÇø¯ }USÁuØS v÷¯õ÷hõø»miß uØPõ¼P 
\�ö\´uÀ, RÌPshÁØÔÀ JßÖ BS®?

(A) Setting up (B) Centering 

 Aø©Ä ö\´uÀ  ø©¯¨£kzuÀ 

(C) Levelling up (D) Focussing 
 ©mh¨£kzxuÀ  SÂø©¯® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

63. It is the operation to make the vertical axis of the instrument truly
vertical and pass through the station is called as 
P¸Â°ß ö\[Szx Aaø\ Esø©¯õP ö\[SzuõP ©õØÔ, {ø»¯zvß 
ÁÈ¯õPa ö\ÀÁuØPõÚ ö\¯À CÆÁõÖ AøÇUP¨£kQÓx 

(A) Setting up (B) Levelling up 

 Aø©zuÀ  ö»Á¼[ A¨ 

(C) Centering (D) Focussing 
 ø©¯¨£kzuÀ  ÷£õUP][ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

64. Rotating Telescope in horizontal plane about its vertical axis is
called 
Qøh©mhz uÍzvÀ _Ç¾® öuõø» ÷|õUQ°ß ö\[Szx Aa_ GÆÁõÖ 
AøÇUP¨£kQÓx? 

(A) Swing (B) Centering 

 _Â[ ø©¯¨£kzuÀ

(C) Plunging (D) Transiting 
 uõÊuÀ  iμõßêi[ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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65. The arc equivalent to angular value 05'' for a line of length 100 m is
given by the formula  
100 « }Í® öPõsh ÷PõmiØPõÚ ÷Põn ©v¨¦ 05''�ØS \©©õÚ ÂÀ 
`zvμ® CÆÁõÖ öPõkUP¨£kQÓx? 

(A) Radius × arc length  

 Bμ® × ÂÀ }Í® 

(B) Radius × angular value in radian 

 Bμ® × ÷Põn ©v¨¦ ÷μi¯ÛÀ 

(C) (Radius)2 × arc length  
 (Bμ®)2 × ÂÀ }Í®  

(D) Radius/ arc length 
 Bμ® / ÂÀ }Í® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

66. How many methods are used to prolongation of a straight line? 
J¸ ÷|ºU÷Põmiß }mi¨¤ØS GzuøÚ �øÓPÒ £¯ß£kzu¨£kQÓx? 

(A) 4 (B) 3 

(C) 5 (D) 6 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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67. Angle between the preceding line and the succeeding line is called 
�ßÚõÀ EÒÍ ÷PõmiØS® Akzu ÷PõmiØS® Cøh÷¯ EÒÍ ÷Põn® 
CÆÁõÖ AøÇUP¨£kQÓx? 

(A) Direct angle (B) Right angle 

 ÷|ºU÷Põn®  ö\[÷Põn® 

(C) Deflection angle (D) Rotation angle 
 Â»S ÷Põn®  v¸¨¦ ÷Põn® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

68. Angles measured clockwise from a backsight to the previous line are
called as 
�ßÚõÀ EÒÍ ÷PõmiÀ C¸¢x PiPõμ _ØÔÀ ¤ß£õºøÁ°À AÍUS® 
÷Põn® CÆÁõÖ AøÇUP¨£kQÓx? 

(A) Deflection angle (B) Angle of twist 

 Â»S ÷Põn®  v¸¨¦ ÷Põn® 

(C) Direct angles (D) Swing angle 
 ÷|ºU ÷Põn®  _Â[ ÷Põn® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

69. Which of the following instrument can measure vertical angles with
respect to horizontal line or with respect to zenith?  
Qøh©mh ÷Põmøh Ai¨£øh¯õPU öPõsk AÀ»x öéÛz 
Ai¨£øh¯õPU öPõsk E¯º©mh ÷Põnzøu AÍUP £¯ß£k® P¸Â 
Gx? 

(A) Electronic theodolite (B) Levelling 

 G»UmμõÛU v÷¯õhø»m  ö»Á¼[ 

(C) Compass (D) Chain 
 vø\UPõmi  ö\°ß 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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70. The angle between a line and the meridian measured in clockwise
direction usually from the north of the meridian is called 
ö©�i¯ÝUS®,  ÷PõmiØS® Cøh÷¯ EÒÍ ÷Põnzøu PiPõμ _ØÖ 
vø\°À AÍUP, ÁÇUP©õP  ÁhUS ö©�i¯øÚ GkzxU öPõshõÀ AøÁ 
CÆÁõÖ AøÇUP¨£k® 

(A) Included angle (B) Azimuth of the line 

 Em÷Põn®  A]�zvß ÷Põk 

(C) Base angle (D) Deflection of the line 
 Ai¨£øh ÷Põn®  ÷Põmiß Â»UP® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

71. Loose needle method is rarely used for fixing direction in theodolite
traversing because 
v÷¯õhø»m iμõÁº][�À vø\ø¯ SÔUP ¿ì }iÀ �øÓ A�uõP 
£¯ß£kzu Põμn® 

(A) It is prone to local attraction  

 CvÀ ÷»õUPÀ AmμõU\ß HØ£h Áõ´¨¦ÒÍx  

(B) It is not a method of theodolite traversing 
 Cx v÷¯õhø»m iμõÁº][�ß J¸ �øÓ AÀ» 

(C) It is not used to determine the bearings of the lines  
 Cuß �»® ÷£�[÷PõkPÒ SÔUP¨£kÁvÀø»  

(D) Bearings included angles not measured 
 ÷£�[QÀ C¸US® Em÷Põn® GkUP¨£kÁvÀø» 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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72. In which of the following traversing no angle measuring instrument
is employed? 
RÌPõq® G¢u P¸Â°ß �»® iμõÁº][ ÷Põn AÍÄPøÍ AÍUP 
C¯»õx? 

(A) Compass traversing (B) Chain traversing 

 Põ®£ì iμõÁº][  ö\°ß iμõÁº][ 

(C) Total station surveying (D) Theodolite traversing 
 ÷hõmhÀ ì÷håß \º÷Á°[  v÷¯õhø»m iμõÁº][ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

73. In a closed theodolite traverse the permissible closing error can be
computed from the formula? 

Where, 

K � is the least count of the instrument 

n� is the number of sides of the traverse. 
�iÄØÓ v÷¯õhø»m iμõÁºì�CÀ AÝ©vUP¨£mh �iÄ ¤øÇ 
PnUQh¨£k® `zvμ®? 
C[S  

K  � P¸Â°ß «a]ØÓÍøÁ 

n  � iμõÁºì £UP[PÎß GsoUøP 

(A) 2KnE =  (B) nKE =  

(C) 22nKE =  (D) 
n

K
E =  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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74. A ���������� is a series of connected lines whose lengths and
directions are known? 
���������� Gß£x öuõhºa]¯õÚ ÷|ºU ÷PõmiÚõÀ BÚ ÁiÁõS®. CvÀ 
{» AÍøÁ ÷Põmiß vø\ø¯²®, }Ízøu²® PshÔ¯»õ®. 

(A) Horizontal line (B) Traverse 

 Qøh©mh ÷Põk  iμõÁºì 

(C) Vertical line (D) Straight line 
 ö\[Szx ÷Põk  ÷|º÷Põk 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

75. Angles measured are interior angles if traverse is run in
anticlockwise direction and theoretical sum is equal to,  
iμõÁºø\, PiPõμ Gvº _ØÔÀ ö\¯À£mk Em÷Põn[PÒ AÍUP¨£mhõÀ 
Auß v¯õ�miUPÎß ÷Põn[PÎß TmkzöuõøP, C[S 

where n = no. of sides 

n = £UP[PÎß GsoUøP 

(A) ( ) 9042 ×−n  (B) ( ) 9042 ×+n  

(C) ( ) 9062 ×−n  (D) ( ) 9062 ×+n  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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76. Which of the following are true about balancing the traverse work,  
iμõÁºø\ \�ö\´uÀ £o°À RÌPsh GøÁ \�¯õÚøÁ? 

(i) Angular accuracy is higher than the linear accuracy 
 }Í AÍÂß xÀ¼¯zøu Âh ÷Põn AÍÂß xÀ¼¯® AvP©õÚx 

(ii) Angular accuracy is lower than the linear accuracy 
 }Í AÍÂß xÀ¼¯zøu Âh ÷Põn AÍÂß xÀ¼¯® SøÓÁõÚx 

(iii) Angular accuracy is not same as the linear accuracy 
 }Í AÍÂß xÀ¼¯zøu¨÷£õÀ ÷Põn AÍÂß xÀ¼¯® 

C¸¨£vÀø» 

(A) (i) only (B) (i) and (ii) only 

 (i) ©mk®  (i) ©ØÖ® (ii) ©mk® 

(C) (iii) only (D) (iii) and (ii) only 
 (iii) ©mk®  (iii) ©ØÖ® (ii) ©mk® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

77. The latitude of a line is its projection on to the ������������ meridian?
J¸ ÷Põmiß ÷»mii³m Gß£x x¸Á[PÐUS ������������ Cøn¯õP 
AÍUP¨£k® yμ©õS®. 

(A) North-south (B) East-west 

 ÁhUS&öuØS  QÇUS&÷©ØS 

(C) North-west (D) East-south 
 ÁhUS&÷©ØS  QÇUS&öuØS 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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78. Bowdith�s rule is also known as, 
ö£Íia Âvø¯ CÆÁõÖ® TÓ»õ®? 

(A) Axis method (B) Graphical method 

 Aa_ �øÓ  ÁøμPø» �øÓ 

(C) Compass rule (D) Transit rule 
 Põ®£ì (vø\Põmi) Âv  iμõß]miß (Ph¨¦) Âv 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

79. This is an indirect method of levelling in which the difference in
elevation of the points is determined from the observed vertical 
angles and the measured distances is known as, 
¦ÒÎPÎß E¯μzvÀ EÒÍ ÷ÁÖ£õk PÁÛUP¨£mh ö\[Szx 
÷Põn[PÎÀ C¸¢x® ©ØÖ® AÍÂh¨£mh yμ[PÎ¼¸¢x® wº©õÛUP, 
©øÓ�P©õP ö\´¯¨£k® ö»Á¼[ CÆÁõÖ AøÇUP¨£kQÓx? 

(A) Sight levelling  
 ø\m ö»Á¼[ (£õºøÁ ©mh AÍUøP) 

(B) Fore-sight levelling 

 ÷£õº&ø\m ö»Á¼[ (�ß£õºøÁ ©mh AÍUøP) 

(C) Trignometric levelling  

 i�U÷Úõö©m�U ö»Á¼[ (�U÷Põn ©mh AÍUøP) 

(D) Lateral levelling 
 ÷»mμÀ ö»Á¼[ (£UPÁõmk ©mh AÍUøP) 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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80. A chord between two successive regular pegs on the curve is called, 
J¸ ÁøÍÂÀ Akzukzu Cμsk (ö£Uì) �øÍUSm]PøÍ CønUS® 
|õoß }Í® GßÚ? 

(A) Long chord (B) Length of curve 

 }sh |õs  ÁøÍÂß }Í® 

(C) Deflection angle of the curve (D) Normal chord 
 ÁøÍÂß Â»S ÷Põn®  \õuõμn |õs 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

81. Obstacles to chaining but not ranging 
£õºUP �i¢x AÍUP �i¯õuøÁ HØ£kzx® uøhPøÍ  

(1) It is possible to chain round the obstacle calculating method 
������������. 

 uøhø¯ _ØÔ ö\°Û[ ö\´¯ �i²® CÁØøÓ PnUQh 
������������ ÁøP¯õÚ �øÓPÒ EÒÍx. 

(2) It is not possible to chain round the obstacle calculating 
methods ������������. 

 uøhø¯ _ØÔ ö\°Û[ ö\´¯ �i¯õux ������������ ÁøP¯õÚ 
�øÓPÒ EÒÍx. 

(A) (1) � 7 method, (2) � 4 method  
 (1) � 7 �øÓPÒ, (2) � 4 �øÓPÒ 

(B) (1) � 8 method, (2) � 5 method  

 (1) � 8 �øÓPÒ, (2) � 5 �øÓPÒ 

(C) (1) � 9 method, (2) � 6 method  
 (1) � 9 �øÓPÒ, (2) � 6 �øÓPÒ  

(D) (1) � 10 method, (2) � 7 method  
 (1) � 10 �øÓPÒ, (2) � 7 �øÓPÒ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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82. Indian standard recommended ������������ year standard length of 
chain kg, degree of accuracy respectively. 
C¢v¯ uμUPmk£õk ������������ Á¸h® �uÀ ö\°ß }Í®, Gøh, iQ� 
÷£õßÓÁØøÓ wº©õÛzux. 

(A) IS 1482 � 1959 (B) IS 1492 � 1959 

(C) IS 1494 � 1959 (D) IS 1496 � 1959 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

83. The lines from a circuit which ends at the starting point it is known
as 
J¸ ¦ÒÎ°À öuõh[Q J¸ _ØÖ �iÁøh²® Áøμ EÒÍ ÷PõkPÒ 
���������� GÚ AøÇUP¨£kQÓx 

(A) Open traverse  
 vÓ¢u |hUøP (vÓ¢u iμõÁºì) 

(B) Closed traverse 

�i¯ |hUøP (�i¯ iμõÁºì)

(C) Traversing  
 |hUøP°¯À (iμõÁº][) 

(D) Continuous traver 
 öuõhºa]¯õÚ |hUøP   

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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84. The index glass in an optical square is 
Psnõi ö\[÷PõnÍÄ P¸Â°À SÔ°mk Psnõi ������������ BP 
ö£õ¸zu¨£mk C¸US®. 

(A) Wholly brass (B) Wholly rays 

 �ÊÁx® ¤zuøÍ  �ÊÁx® PvºÃa_ 

(C) Wholly silvered (D) Wholly unsilvered 
 �ÊÁx® ]ÀÁº  �ÊÁx® ]ÀÁº CÀ»õux 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

85. The principle of chain surveying is to divide the area is 
ö\°ß \º÷Á°ß �»® AÍøÁ PnUQh RÌUPshÁØÔÀ Gx ]Ó¢ux? 

(A) Trapezium (B) Rectangle 

 \�ÁP®  ö\ÆÁP® 

(C) Parallelogram (D) Triangulation 
 CønPμ®  �U÷PõnÂ¯À 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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86. Match the correct statement : 
ö£õ¸zxP : 
(a) Survey station 1. A line joining two subsidiary station 

combined 
 \º÷Á ì÷håß  H÷uÝ® C¸ ¦ÒÎPøÍ Cønzx 

AÍÄPøÍ EÖv ö\´QÓx 
(b) Base line 2. To check the accuracy of the frame work
 Ai¨£øhU ÷Põk  �U÷Põnzvß xÀ¼¯zøu \�£õºUPÄ® 

EÒ Â£μ[PøÍ SÔUPÄ® EuÄQÓx 
(c) Check line 3. End of the line which command the 

boundary of the survey  
 \�£õºUS® ÷Põk  \º÷Á {ø»¯® {»zvß _ØÖ GÀø» 

�ÊÁx® C¸US® 
(d) Tie line 4. A line which is generally longest of all

the survey lines 
 SÖUS ÷Põk  \º÷Á°ß �Ê vmh ÷Áø»PÐ® C¢u 

÷Põk �»® \© £õP©õP ¤�UP¨£kQÓx 

 (a) (b) (c) (d) 
(A) 4 1 3 2    
(B) 1 4 2 3     
(C) 3 4 2 1    
(D) 2 4 1 3    
(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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87. Planimeter is used for measuring  
¤ÍõÛ«mhº £¯ß£kzv PnUQkÁvÀ RÌUPsh \�¯õÚx Gx? 

(A) Length (B) Breadth 

 }Í®  AP»® 

(C) Area (D) Volume 
 £μ¨£ÍÄ  PÚ AÍÄ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

88. Generally an area is treated as plane less than 
¤øÍß \º÷Á ö\´ÁuØS ö£õxÁõP RÌUPsh SøÓ¢u£m\ AÍÄ 
Pøh¤iUP¨£kQÓx 

(A) 240 Sq. Km (B) 260 Sq. Km 

 240 \xμ. Q«  260 \xμ. Q« 

(C) 270 Sq. Km (D) 280 Sq. Km 
 270 \xμ. Q«  280 \xμ. Q« 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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89. Pickup the not correct statement from the following Surveyor Work.
Gx {» AÍøÁ¯õÍ�ß ÷Áø» CÀø» Gß£uß \�¯õÚ AÔUøPø¯ 
÷uºÄ ö\´¯Ä® 

(A) Field measurements  
 L¥ÀiÀ AÍÄPÒ GkzuÀ 

(B) Handling of Survey Instruments 

 \º÷Á E£Pμn[PøÍ øP¯õÐuÀ   

(C) Calculate the Area and Mapping  
 £μ¨£ÍÄ ©ØÖ® {»Áøμ£h® ö\´uÀ 

(D) Site Construction 
 Pmk©õÚ ÷Áø» 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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90. Match the following statement  
(a) Base Line 1. The line joining these points are

boundaries of the survey 
 Ai¨£øh ÷Põk  \º÷Á ö\´¯£h ÷Ási¯ ö\°ß÷Põmiß 

�UQ¯ ¦ÒÎPÒ 
(b) Check Line 2. The line joining the two tie direction

locate the interior 
 EÖv ÷Põk  �U÷Põnzvß J¸ �øÚ°¼¸¢x

Gvº£UP® EÒÍ ¦ÒÎø¯ ÷\º¨£x 
(c) Tie Line 3. The longest survey line. It also fix the

all other survey lines. 
 Cøn¨¦ ÷Põk  \º÷Á°ß �Êvmh ÷Áø»PÐ® Cøu

ö£õÖz÷u Aø©QÓx 
(d) Main Stations 4. A triangle to the any two points on the 

two sides of a triangle  
 �ußø© {ø»¯[PÒ  �U÷Põnzvß Ai£õPzvß

C¸¦ÒÎPøÍ²® Ea]ø¯²® ÷\º¨£x 

 (a) (b) (c) (d) 
(A) 4 2 1 3 
(B) 2 4 3 1  
(C) 1 3 4 2 
(D) 3 4 2 1 
(E) Answer not known 
 Âøh öu�¯ÂÀø» 

91. In chain surveying cumulative source of error is  
ö\°ß \º÷Á°À Jmk ö©õzu ¤øÇ HØ£kÁx 

(A) Fag (B) Lag 

 L£õU  ¤ßÚøhÄ 

(C) Rag (D) Sag 
 P¢uÀ  öuõ´Ä

(E) Answer not known 
 Âøh öu�¯ÂÀø»
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92. Write the procedure of folding of CHAIN.  

ö\°øÚ ©hUSuÀ (folding) £ØÔ öuÎÁõP Âøh¯Î. 

(A) In front of throw the chain  
 ö\°øÚ �ß÷ÚõUQ yUQ GÔ¯ ÷Ásk® 

(B) Spread the floor of the chain 
 ö\°øÚ uøμ �ÊÁx® £μ¨¤ CønUP ÷Ásk®  

(C) Middle of Tally put the hand left and right the throw and then 
counting 

 ÷h¼ø¯ ø©¯©õP ¤izx Á» øP ¤izx Ch øP¯õÀ ÷\ºUP 
÷Ásk®  

(D) Chain should be tightly 
 ö\°øÚ PmhõP Pmh ÷Ásk® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

93. The end of the chain provided with Brass handles in �����������
Joint. 
ö\°Ûß Pøh] �øÚ ¤zuøÍ ÁøÍ¯® öPõsk ����������� Cøn¨£õÀ 
ö£õ¸zu¨£mk C¸US®. 

(A) Swivel (B) Lap 

 _ÇÀ  JßÔß ÷©À JßÖ 

(C) Grooved (D) Twisting 
 S¹Æk  �ÖUSuÀ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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94. In surveying tacking short offsets can be used �����������
Instrument. 
{»zvÀ EÒÍ SøÓ¢u£m\ yμ® PnUQh £õºøÁUS® öu�²®£i EÒÍ 
P¸Â ����������� BS®. 

(A) Boning Rod (B) Towel Rod 

 ÷£õÛ[ μõk  hÁÀ μõk 

(C) Ranging Rod (D) Straight Rod 
 ÷μg][ μõk  ÷|μõÚ μõk 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

95. If the distance is greater than a chain so ����������� method 
adopted. 
yμ® J¸ ö\°ß }Ízøu Âh AvP©õP C¸¢uõÀ RÌUPõq® G¢u 
�øÓø¯ £¯ß£kzu»õ®. 

(A) Offsetting (B) Chaining 

 B¨ö\mi[ �øÓ  ö\°Û[ �øÓ 

(C) Ranging (D) Lining 
 ÷μg][ �øÓ  ø»Û[ �øÓ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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96. Direct Ranging carried out in following which two method is correct?
÷|μi ÷μg][ ö\´ÁvÀ R÷Ç²ÒÍ H÷uÝ® J¸ ö£õ¸zu©õÚ Âøhø¯ 
÷uº¢öuk 

(A) Ranging pipe, Ranger  
 ÷μg][ ø£¨, ÷μg\º 

(B) Indirect Ranger, Step method 

 ©øÓ�P ÷μg\º, £i �øÓ   

(C) Direct Ranging, Line Ranger  
 Ps �»® ÷|μi¯õP, ø»ß ÷μg\º �»® 

(D) Base Ranging, Tie Ranging 
 Ai¨£øh ÷μg][, SÖUS ÷μg][ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

97. In chain survey horizontal distance measured in sloping distance
using direct method another name is 
ö\°ß \º÷Á°À \õ´ÁõÚ Ch[PÎÀ Qøh©mh yμzøu ÷|μi¯õP 
AÍÂh ö\´²® �øÓ°ß ©ØöÓõ¸ ö£¯º GßÚ? 

(A) Horizontal method (B) Reduce method 

 Qøh©mh �øÓ  SøÓUP¨£mh yμ �øÓ 

(C) Stepping method (D) Vertical method 
 £iPÒ �øÓ  ö\[Szx �øÓ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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98. The instrument used for setting out an offset at a right angle is
called 
RÌUPsh G¢u P¸Â ö\[÷Põn �U÷Põn® 90º _»£©õP Põn»õ®. 

(A) Open Cross-Staff (B) French Cross-Staff 

 vÓ¢u Qμõì&ìhõ¨  ¤öμßg Qμõì&ìhõ¨ 

(C) Adjustable Cross-Staff (D) Optical Square 
 Amöáìh¤Ò Qμõì&ìhõ¨  B¨iPÀ ìöPõ¯º 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

99. The limiting length of an offset does not depend upon 
J¸ QøÍ÷Põkhß Áøμ¯ÖUP¨£mh }Í® RÊÒÍ AÔUøP JßøÓ \õº¢ux 
Gx? 

(A) Accuracy of the work  
 ÷Áø»°ß xÀ¼¯® 

(B) Indefinite features to be surveyed 

 Põ» Áøμ¯ØÓ  A®\[PÒ B´Ä ö\´¯ ÷Ásk®   

(C) Method of setting out perpendiculars  
 ö\[SzuõP Aø©US® �øÓ 

(D) Scale of plotting 
 ì÷PÀ vmhzvß AÍÄ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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100. Select the correct sentence is taking out offset. 
QøÍU÷PõkPÒ GkUS® �øÓ°À RÊÒÍ G¢u ÁõUQ¯® \�¯õÚuõP 
C¸US®. 

(A) Irregular boundary line, change the direction, centre of circle, 
angle difference  

 JÊ[PØÓ GÀø» ÷Põk, ÷Põmiß vø\ ©õÖ£õk, Ámhzvß 
ø©¯¨¦ÒÎ, ÷Põn ©õÖ£õk CøÁPÐUS ö£õ¸¢x® 

(B) Chain line should be provided as important for offsetting 

 ö\°ß ø»øÚ Buõμ©õP öPõsk C¸UP ÷Ásk® 

(C) In the object is not visible that time taking offsets  
 ö£õ¸Îß yμ® öuÎÁØÓ yμzvÀ C¸¢uõÀ GkUP ÷Ásk® 

(D) Entry in field book necessary offsets 
 {» AÍøÁ ¦zuPzvÀ SÔ¨¤h QøÍ÷Põk ÷uøÁ¨£k® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

101. The frame limiting the drawing space, should be executed with
continuous thin line of  
ÁøμuÀ ChzøuU Pmk¨£kzxuÀ _________ ª.« öuõhºa]¯õÚ ö©À¼¯ 
÷Põmkhß ö\¯À£kzu ÷Ásk®. 

(A) 0.2 mm (B) 0.3 mm 

 0.2 ª.«  0.3 ª.« 

(C) 0.5 mm (D) 0.1 mm 
 0.5 ª.«  0.1 ª.« 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 



 

387 � Surveyor 52

102. For pencil layouts and working drawings _________ colour papers are 
best suited. 
ö£ß]À ÷»AÄm ©ØÖ® öÁõºQ[ iμõ°[ ÷£õßÓÁØÔØS _________
ÁsnzuõÒPÒ ªPÄ® ö£õ¸zu©õÚx.

(A) White (B) Yellow 

 öÁÒøÍ  ©g\Ò 

(C) Light Green (D) Cream 
 öÁÎº £aø\  Q�® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

103. The role of a Surveyor is  
J¸ \º÷Á¯�ß ÷Áø»PÒ Gß£x 

(A) Field work 
 ¥Àk JºU 

(B) Office work  
 A¾Á»P ÷Áø»  

(C) Care and adjustments of Instruments  
 P¸ÂPøÍ øP¯õÒÁx ©ØÖ® £μõ©�¨£x 

(D) All of the above  
 ÷©ØPsh AøÚzx®  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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104. In a field book, booking is commenced at the page is ����������
direction booking. 
PÍ ¦zuPzvÀ AÍÄ SÔ¨¦PÒ ¦zuPzvß ���������� £Sv°¼¸¢x 
SÔUP¨£k® 

(A) Top of page downward direction   
 £UPzvß ÷©À C¸¢x RÌ ÷|õUQ 

(B) Middle of line any direction entry 

 £UPzvß ø©¯zv¼¸¢x G¢u ¦Ózv¾®   

(C) Bottom of page upward direction   
 Ai¨£Sv°¼¸¢x ÷©À ÷|õUQ SÔUP¨£k® 

(D) Any side entry in upward direction 
 £UPzvß G¢u ¦Ózv¾® ÷©À ÷|õUQ SÔUP¨£k®   

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

105. In folding of sheets, folded drawing to be of  
Áøμ£h uõÒPøÍ ©i¨£vÀ CÖv¯õP G¢u AÍÄ C¸UP ÷Ásk®? 

(A) A1 size (B) A2 size 

 A1 AÍÄ  A2 AÍÄ 

(C) A3 size (D) A4 size 
 A3 AÍÄ  A4 AÍÄ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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106. Flat scales are in general use  
ö£õxÁõP £¯ß£õmiÀ EÒÍ umøh¯õÚ ì÷PÀì 

(A) 15 cm long 1 cm wide (or) 30 cm long 2.5 cm wide  

 15 ö\.« }Í® 1 ö\.« AP»® AÀ»x 30 ö\.« }Í® 2.5 ö\.« AP»® 

(B) 15 cm long 1.5 cm wide (or) 30 cm long 3 cm wide  

 15 ö\.« }Í® 1.5 ö\.« AP»® AÀ»x 30 ö\.« }Í® 3 ö\.« AP»®

(C) 15 cm long 2.5 cm wide (or) 30 cm long 4 cm wide 

 15 ö\.« }Í® 2.5 ö\.« AP»® AÀ»x 30 ö\.« }Í® 4 ö\.« AP»®

(D) 15 cm long 2 cm wide (or) 30 cm long 3.5 cm wide 

 15 ö\.« }Í® 2 ö\.« AP»® AÀ»x 30 ö\.« }Í® 3.5 ö\.« AP»®

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

107. These are tools used to Transfer and/or to measure the dimensions. 
AÍÄPøÍ C¢u P¸Â �»® ÷ÁÖ ChzvÀ SÔUPÄ® AÀ»x AÍÂhÄ® 
CøÁ £¯ß£kQÓx. 

(A) Divider (B) Scales 

 iøÁhº  ì÷PÀì 

(C) �T� square  (D) Protractor  
 �T� ìöPõ¯º  £õøP©õÛ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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108. An �Ebony edge� of drawing board projects from board is  
iμõ°[ ÷£õºiÀ C¸¢x G÷£õÛ Gmä GÆÁÍÄ yμ® }miU 
öPõskÒÍx? 

(A) 2 to 3 mm (B) 3 to 4 mm 

 2 ¼¸¢x 3 ª.«.  3 ¼¸¢x 4 ª.«. 

(C) 4 to 5 mm (D) 5 to 6 mm 
 4 ¼¸¢x 5 ª.«.  5 ¼¸¢x 6 ª.«. 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

109. Standard size of T1 �T� square blades length as per IS : 1360 � 1989 
is   
IS : 1360 � 1989 ß £i T1 �T� ìöPõ¯�ß ¤÷Íiß ìhõshºk }Í® 

(A) 1500 mm (B) 1000 mm 

 1500 ª.«.  1000 ª.«. 

(C) 700 mm (D) 500 mm 
 700 ª.«.  500 ª.«. 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

110. The angle of straight line 
J¸ ÷|º÷Põmiß ÷Põn® 

(A) 90° (B) 180° 

(C) 270° (D) 360° 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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111. Match the following 
¤ßÁ¸ÁÚÁØøÓ ö£õ¸zxP. 
(a) Acute angle 1. More than 180° 
 SÖ[÷Põn®  180° ÷©÷» 
(b) Obtuse angle 2. 180°  
 B¨m²ì ÷Põn®  180° 
(c) Straight angle 3. Angle between 90° and 180° 
 ÷|μõÚ ÷Põn®  90° ©ØÖ® 180° Cøh£mh ÷Põn® 
(d) Reflex angle 4. Less than 90°  
 Â�÷Põn®  90° R÷Ç 

 (a) (b) (c) (d) 
(A)  4  2  3  1    
(B)  4  3  2  1     
(C)  2  3  1  4    
(D)  1  4  2  3 
(E) Answer not known 
  Âøh öu�¯ÂÀø» 

112. Following line is not an element of dimensioning  
¤ßÁ¸® ÷PõkPÎÀ JßÖ øhö©ß\Û[ TÖ AÀ» 

(A) Extension line (B) Hidden line 

 }mi¨¦ ÷Põk  îmhß ÷Põk 

(C) Dimension line (D) Leader line 
 øhö©ß]¯ß ÷Põk  ½hº ÷Põk 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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113. Find the number of equal parts MSD(n) 

If one MSD = 2 mm 

Least Count = 0.25 mm 
MSD(n) \© £õP[PÎß GsoUøPø¯U PshÔ¯Ä®. 

J¸ MSD = 2 ª.«.  

½ìm PÄsm = 0.25 ª.«. 

(A) 12 parts (B) 10 parts 

 12 £õP[PÒ  10 £õP[PÒ 

(C) 8 parts (D) 6 parts 
 8 £õP[PÒ  6 £õP[PÒ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

114. In comparative scale 10ºC equivalent reading of F scale = 
P®£õöμiÆ ì÷P¼À 10ºC = £õμßïm? 

(A) 20º F (B) 30º F 

(C) 40º F (D) 50º F 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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115. The length of the Vernier scale will be equal to the length of either
��������� parts of MSD. 
öÁºÛ¯º AÍÄ÷Põ¼ß }Í® MSD ß ��������� £Sv°ß }ÍzvØS 
\©©õP C¸US®. 

(A) ( )1−n  or ( )1+n  (B) ( )2−n  or ( )2+n  

 ( )1−n  AÀ»x ( )1+n   ( )2−n  AÀ»x ( )2+n  

(C) ( )1−n  or ( )2−n  (D) ( )1+n  or ( )2+n  

 ( )1−n  AÀ»x ( )2−n   ( )1+n  AÀ»x ( )2+n  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

116. Choose the formula using convert Fahrenheit to Celsius 
£õμßïmi¼¸¢x ö\À]¯\õP ©õØÖÁuØS £¯ß£k® `zvμzøu 
÷uº¢öuk

(A) C = (F � 32) 
5
9×  (B) C = (F � 32) 

9
5×  

(C) F = 32
5
9

C +





 ×  (D) F = 32

9
5

C +





 ×  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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117. It is a plane figure of four sides, all sides are different and all the 
four angles also differ. 
Cx J¸ |õØPμ©õS®, Cuß |õßS £UP[PÒ ©ØÖ® |õßS ÷Põn[PÒ Th 
÷ÁÖ£mhøÁ. 

(A) Rhombus (B) Rhomboid 

 \õ´\xμ®  ÷μõ®£õ´k 

(C) Rectangle (D) Trapezium 
 ö\ÆÁP®  i÷μ¥]¯® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

118. Name of Nine sides of Polygon is 
Jß£x £UP[PøÍ öPõsh £»÷Põnzvß ö£¯º ��������� BS®. 

(A) Nonagon (B) Octagon 

 öuõs÷Põn®  Gs÷Põn® 

(C) Heptagon (D) Decagon 
 GÊ÷Põn®  £s÷Põn® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

119. Triangle has all the three sides unequal in lengths. All the three 
angles are also unequal. 
�U÷Põn® �ßÖ £UP[PÐ® \©©ØÓ }ÍzøuU öPõskÒÍx. �ßÖ 
÷Põn[PÐ® \©©ØÓøÁ. 

(A) Isosceles triangle (B) Scalene triangle 
 I÷\õö\Àì �U÷Põn®  ì÷P¼ß �U÷Põn® 

(C) Acute angled triangle (D) Obtuse angled triangle 
 AS²m ÷Põn �U÷Põn®  B¨m²ì ÷Põn �U÷Põn® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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120. In Quadrilaterals all the four sides are equal, but only the opposite
angles are equal. 
|õØPμ[PÎÀ |õßS £UP[PÐ® \©©õP C¸US®. BÚõÀ Gvº ÷Põn[PÒ 
©mk÷© \©©õP C¸US®. 

(A) Rhombus (B) Rhomboid 

 \õ´\xμ®  }sh ö\ÆÁP® 

(C) Trapezoid (D) Trapezium 
 \�ÁP ÷£õ¼  \�ÁP® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

121. What is the method of Tacheometry survey denoted by the following
diagram? 
÷hUQ÷¯õö©m�U \º÷Á°À RÌPsh £h® SÔ¨£x G¢u �øÓø¯ 
\õº¢ux? 

 
 

(A) Measurement of Horizontal Distance by subtence bar  

 \¨ìhßì £õ�ß Qøh©mh yμzøu AÍÂhÀ 

(B) Measurement of Vertical distance by subtence bar 

 \¨ìhßì £õ�ß ö\[Szx yμzøu AÍÂhÀ

(C) Tangential method  
 ÷hß\ßæ¯À (öuõkøP) �øÓ 

(D) Fixed Hair method 
 ¤Uìk ÷íº ({ø» CøÇ) �øÓ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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122. Tacheometric formula for horizontal distance using inclined sights
through θ  is obtained by multiplying 
�θ � AÍÁõP \õ´¢u £õºøÁø¯¨ £¯ß£kzv Qøh©mh yμzvØPõÚ 
÷hUQ÷¯õö©m�U `zvμ® Gøu ö£¸USÁuß �»® ö£Ó¨£kQÓx? 

(A) The constant by θ2sin   

 ©õÔ¼ θ2sin  

(B) The constant by θ2cos  

 ©õÔ¼ θ2cos  

(C) The constant by θcos   
 ©õÔ¼ θcos

(D) The multiplying constant by θ2cos and Additive constant by 
θcos

 ö£¸UPÀ ©õÔ¼ θ2cos , TmhÀ ©õÔ¼ θcos  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

123. The subtense bar is used to measure ��������� distance between 
the instrument station. 
\¨ìhßì £õº, P¸Â {ø»¯zvØS Cøh÷¯ EÒÍ ��������� yμzøu 
AÍÂh £¯ß£kzu¨£kQÓx. 

(A) Inclined (B) Horizontal 

 \õ´¢v¸US®  Qøh©mh 

(C) Elevation (D) Inverted  
 E¯μ®  uø»RÇõÚ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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124. ��������� rod is a staff which is longer than an ordinary levelling
staff. 
��������� AÍUøPU÷PõÀ Gß£x J¸ \õuõμn ö»Á¼[ ìhõ¨ø£ (©mh 
AÍUøPU÷PõÀ) Âh }Í©õÚ J¸ AÍUøPU÷PõÀ. 

(A) Vertical (B) Stadia 

 ö\[Szx  ì÷hi¯õ 

(C) Horizontal (D) Inclined 
 Qøh©mh  \õ´ÁõÚ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

125. Length of base line in secondary triangulation is given as 
Cμshõ® {ø» �U÷Põn©õUP AÍUøP°ß AiU÷Põmiß }Í®  

(A) 1.5 � 5 km (B) 0.5 � 10 km 

 1.5 � 5 Q.«.  0.5 � 10 Q.«. 

(C) 0.5 � 3 km (D) 5 � 15 km 
 0.5 � 3 Q.«.  5 � 15 Q.«.   

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

126. What is the process of locating unknown points by the formation of
triangles? 
�U÷Põn[PøÍ E¸ÁõUSÁuß �»® öu�¯õu ¦ÒÎPøÍ Psk¤i¨£uß 
ö\¯À�øÓ GßÚ? 

(A) Triangulation  (B) Trilateration  
 møμ¯õ[S÷»åß  møμ÷»mh÷μåß 

(C) Translocation (D) Differential positioning  
 mμõßìö»õ÷Påß  i£μßæ¯À ö£õ]åÛ[ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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127. Length of base line in tertiary triangulation is given as  
�ßÓõ® {ø» �U÷Põn©õUP AÍUøP°À, AiU÷Põmiß }Í® ����������
GÚ ÁÇ[P¨£kQÓx. 

(A) 1.5 � 5 km (B) 0.5 � 10 km 

 1.5 � 5 Q.«  0.5 � 10 Q.« 

(C) 0.5 � 3 km (D) 5 � 15 km 
 0.5 � 3 Q.«  5 � 15 Q.« 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

128. Covering whole survey area with primary Triangulation, but filling
the gaps with secondary and tertiary triangulation involves in which 
among the following processes? 
�Ê B´Ä¨ £Svø¯²®, �ußø© �U÷Põn©õUPÀ AÍUøP°ÚõÀ 
EÒÍh[Q¯x. BÚõÀ, Cμshõ® {ø» ©ØÖ® �ßÓõ® {ø» 
�U÷Põn©õUPÀ AÍUøP°ÚõÀ CøhöÁÎPøÍ {μ¨¦Áx ¤ßÁ¸® 
ö\¯À�øÓPÎÀ Gøu EÒÍhUQ¯x? 

(A) Central system (B) Quaternary triangulation 

 ø©¯ Aø©¨¦  SÁõmhºÚ� Aø©¨¦ 

(C) Grid iron system (D) Well conditioned system 
 Q�m A¯ºß Aø©¨¦  öÁÀ Psiåßk Aø©¨¦ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

129. How many sides are there in Hexagon? 
AÖ[÷PõnzvØS GzuøÚ £UP[PÒ? 

(A) 5 (B) 4 

(C) 6 (D) 7 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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130. In triangulation survey, a structure erected over a station can be
determined as 
�U÷Põn©õUPÀ AÍUøP°À, J¸ {ø»¯zvß «x Aø©UP¨£mh 
Pmhø©¨¦ ���������� GÚ wº©õÛUP»õ®. 

(A) Signal (B) Tower  
 ]UÚÀ (SÔøP)  hÁº (÷Põ¦μ®) 

(C) Instrumentation (D) Satellite station 
 P¸Â {ø»¯®  ö\¯ØøP÷PõÒ {ø»¯® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

131. In which of the following areas, the usage of primary Triangulation
is done? 
¤ßÁ¸® G¢u¨ £SvPÎÀ �ußø© �U÷Põn©õUP AÍUøP°ß 
£¯ß£õk EÒÍx? 

(A) measuring fields    
 GÀø»PøÍ AÍÂkuÀ   

(B) measuring built up lands  
 Pmh¨£mh {»[PøÍ AÍÂkuÀ 

(C) measuring earth figure   
 §ª°ß E¸Ázøu AÍÂkuÀ   

(D) measuring unused lands  
 £¯ß£kzu¨£hõu {»[PøÍ AÍÂkuÀ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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132. Which of the following features must be essentially incorporated in a 
Tacheometer?  
J¸ ÷hUQ÷¯õ«mhº ¤ßÁ¸® Pmhõ¯©õÚ A®\[PÎÀ, GÁØøÓ 
EÒÍhUQ¯uõP C¸UP ÷Ásk®?

(i) Multiplying constant should have nominal value 100 
 ö£¸UPÀ ©õÔ¼ C¯À£õP 100 ©v¨£õP C¸UP ÷Ásk®. 

(ii) The telescope should be truly analactic.   
 öuõø»÷|õUQ Esø©°À AÚ»õUiU BP C¸UP ÷Ásk® 

(iii) The axial horizontal line should be exactly midway between the 
other two lines. 

 Aa_ Qøh©mh ÷Põk ©ØÓ Cμsk ÷PõkPÐUS Cøh°À \�¯õP 
C¸UP ÷Ásk® 

(A) (i) only (B) (i) and (iii) only 

 (i) ©mk®  (i) ©ØÖ® (iii) ©mk® 

(C) (i) and (ii) only (D) (i), (ii) and (iii) only 
 (i) ©ØÖ® (ii) ©mk®  (i), (ii) ©ØÖ® (iii) ©mk® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

133. Which instrument is used in optical distance measurement method?
B¨iPÀ öuõø»øÁ AÍÂk® �øÓ°À G¢u E£Pμn® 
£¯ß£kzu¨£kQÓx? 

(A) Tacheometry (B) Dumpy level  
 ÷hUQ÷¯õö©m�U  h®¤ ö»ÁÀ 

(C) Wye level (D) Modern level 
 J´ ö»ÁÀ  ©õhºß ö»ÁÀ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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134. The method of Tacheometry commonly used is  
÷hUQ÷¯õö©m�°À ö£õxÁõP £¯ß£kzu¨£k® �øÓ 

(A) fixed stadia system  

 {ø»¯õÚ ì÷hi¯õ Aø©¨¦   

(B) movable stadia system  
 Aø\²® ì÷hi¯õ Aø©¨¦ 

(C) tangential stadia system   
 ÷hßöáßæ¯À ì÷hi¯õ Aø©¨¦   

(D) transiting stadia system  
iμõß]miì ì÷hi¯õ Aø©¨¦

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

135. Methods of Tacheometry is/are 
÷hU÷Põö©m�°ß �øÓPÒ 

(A) The stadia method only  

 ì÷hi¯õ �øÓ ©mk®   

(B) The tangential method only  
 ÷hßöáßæ¯À �øÓ ©mk® 

(C) Stadia and tangential method  
 ì÷hi¯õ ©ØÖ® ÷hßöáßæ¯À �øÓ   

(D) Inclined method   
 \õ´ÁõÚ �øÓ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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136. What is the distance of station from the instruments on fixed hair
method, if the line of sight is horizontal with multiplying and
additive constant is 100 and 0.5, respectively and S = 1.500? 
ö£¸UPÀ ©ØÖ® ÷\ºUøP ©õÔ¼ �øÓ÷¯ 100 ©ØÖ® 0.5 ©ØÖ® S = 1.500 
BPÄ® £õºøÁU÷Põk Qøh©mh©õP C¸US® ÷£õx, {ø»¯õÚ CønÁ� 

(fixed hair) �øÓ°À P¸Â {ø»¯zvß yμ® GßÚ? 

(A) 1.5 m (B) 15.5 m 

 1.5 «  15.5 « 

(C) 150.50 m (D) 150.00 m 
 150.50 «  150.00 « 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

137. In a Tacheometer, the focal length of object is 280 mm. The distance
from the object glass to the Trunnion axis is 120 mm. Then the
additive constant  �k� is 
÷hUQ÷¯õ«mhº Aø©¨¤À ö£õ¸Îß SÂ¯zyμ® 280 mm BS®. 
÷©¾® l�¯ß (uõ[S¸øÍ) Aa_US® ö£õ¸ÐUS® Cøh¨£mh yμ® 

120 mm ÷\ºUøP ©õÔ¼ �k� ���������� BP C¸US®.  

(A) 0.38 (B) 0.35 

(C) 0.4 (D) 100 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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138. Theodolite fitted with stadia hair is known as  
ì÷hi¯õ CøÇPÐhß (CønÁ�²hß) Ti¯ v÷¯õhø»mhõÚx 

(A) Transit vernier  (B) Non-transit vernier  

 mμõßêm öÁºÛ¯º  Non-mμõßêm öÁºÛ¯º 

(C) Triangulation  (D) Tacheometer  
 �U÷PõnÂ¯À  ÷hUQ÷¯õ«mhº 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

139. What is the Tacheometric equation for distance while the line of
sight is horizontal and staff is held vertically? 
£õºøÁU ÷PõhõÚx Qøh©mh©õPÄ®, ìhõ¨ (AÍUøPU÷PõÀ) 
ö\[SzuõPÄ® EÒÍ ÷£õx yμzvØPõÚ ÷hUQ÷¯õö©m�U \©ß£õk ¯õx?

(A) ( )df
i
f

D ++





=  (B) ( )dfs

i
f

D ++





=  

(C) ( )dfs
i
f

D ++





=  (D) ( )dfs

i
f

D ×+





=  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

140. For a Tacheometer equipped with anallatic lens, the additive and
multiplying constant are respectively  
AÚ»õiU ö»ßì ö£õ¸zu¨£mh ÷hUQ÷¯õ«mh¸US ÷\ºUøP ©õÔ¼ 
©ØÖ® ö£¸UPÀ ©õÔ¼ �øÓ÷¯ 

(A) 100, 100 (B) 0, 100 

(C) 100, 0 (D) 0, 0 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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141. The angle of dip at a point on equator is 
§©zv¯ ÷μøP°À i¨ EÒÍ \õ´Âß ÷Põn AÍÄ GßÚ? 

(A) 0º (B) 45º 

(C) 30º (D) 90º 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

142. The plane table is always placed in every station which is parallel to
the position occupied at the first station which is called as 
JÆöÁõ¸ {ø»¯zv¾® \©uÍ £»øP G¨÷£õx® øÁUP¨£k®, Cx �uÀ 
{ø»¯zvÀ BUQμªUP¨£mh ChzvØS Cøn¯õP C¸US® Gß£x 

(A) Principle of telescopic alidade  
 öuõø»÷|õUQ A¼÷hm°ß uzxÁ® 

(B) Principle of compass 

 vø\Põmi°ß uzxÁ® 

(C) Principle of plane table 
 \©uÍ £»øP uzxÁ® 

(D) Principle of chain 
 \[Q¼ uzxÁ® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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143. Which of the instrument is NOT used in plane table surveying? 
\©uÍ AÍUøP \º÷Á°À RÌUPsh G¢u E£Pμn® 
£¯ß£kzu¨£kÁvÀø»? 

(A) Alidade (B) Plane table 

 A¼÷hm  \©uÍ£»øP 

(C) Tripod (D) Levelling staff 
 �UPõ¼  ©mh AÍUøP ÷PõÀ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

144. A graphical device to convert one variable into another is called  as 
J¸ ©õÔø¯ ©ØöÓõ¸ ©õÔ¯õP ©õØÖÁuØS¨ £¯ß£k® P¸Â CÆÁõÖ 
AøÇUP¨£kQÓx? 

(A) Plain scales (B) Diagonal scales 

 ¨øÍß ì÷PÀ  h¯PÚÀ ì÷PÀ 

(C) Comparative scale (D) Vernier scale 
 P®÷£öμmiÆ ì÷PÀ  öÁºÛ¯º ì÷PÀ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

145. If an actual length of an electrical switch board of length 30 mm, is
represented by a 30 mm length on drawing. What is the
Representative fraction? 
30 ª.« Esø©¯õÚ }Í® Eøh¯ J¸ G»Um�PÀ ìÂma ÷£õºk BÚx 
Áøμ£hzv¾® A÷u AÍÂÀ 30 ª.« }Í�øh¯uõP Áøμ¯¨£mhõÀ Auß 
öμ¨μö\ß÷hiÆ L¨μõUåß (¤μv¨ ¤ßÚ®) GßÚ? 

(A) 1 : 4 (B) 1 : 3  

(C) 1 : 1 (D) 1 : 2 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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146. It is  a curved ruler used for drawing irregular curves that are
neither circles nor circular arcs, is known as 
Ámh[PÍõPÄ® CÀ»õ©À Ámh ÂÀPÍõPÄ® CÀ»õ©À JÊ[PØÓ 
ÁøÍÄPÍõP C¸¨£ÁØøÓ ÁøμÁuØS¨ £¯ß£k® J¸ ÁøÍÁõÚ 
Áøμ÷PõÀ CÆÁõÖ AøÇUP¨£kQÓx? 

(A) Fastener (B) Protractor 

 ¤i¨£õßPÒ  £õøP©õÛ 

(C) French curves (D) Stencils 
 L¨öμga PºÆì  ìöhß]À 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

147. It is a thin line projecting from the feature and extending beyond
the dimension line is called as 
E¸ÁzvÀ C¸¢x öÁÎ÷¯ }mh¨£mi¸US® J¸ ö©À¼¯ ÷Põk ©ØÖ® 
Cx h¯ö©ßåß ÷Põmøhz uõsi }mh¨£mi¸US®. AøÁ CÆÁõÖ 
AøÇUP¨£kQÓx? 

(A) Dimension line (B) Leader line 

 h¯ö©ßåß ÷Põk  ½hº ÷Põk 

(C) Extension line (D) Termination line 
 GUìöhßåß ÷Põk  �iÄÖ® ÷Põk 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 



 

387 � Surveyor 72

148. A solid having eight equilateral triangular faces is called as 
Gmk \©£UP �U÷Põn �P¨¦PøÍ Eøh¯ J¸ vh¨ ö£õ¸Ò CÆÁõÖ 
AøÇUP¨£kQÓx? 

(A) Octahedron  

 BUhõöímμõß (A) Gs�P® 

(B) Hexahedron 

 öíUéõöímμõß (A) AÖ�P¨¦ E¸ 

(C) Tetrahedron  

 öhmμõöímμõß (A) |õß£mhP® 

(D) Cylinder 
 E¸øÍ   

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

149. If an actual length of a typical terminal strip of 10 mm is 
represented by 50 mm length on drawing, what is the
Representative fraction? 
J¸ ÁÇUP©õÚ öhºªÚÀ ìm�¨¤ß Esø©¯õÚ }Í® BÚx 10 ª.« 
BÚx Áøμ£hzvÀ 50 ª.« }Í©õPU SÔUP¨£mhõÀ. Auß ¤μv¨ ¤ßÚ® 
GßÚ? 

(A) 1 : 5 (B) 2 : 5 

(C) 5 : 1 (D) 5 : 2 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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150. The manner of arrangement of doors and windows in the external
walls of the building to draw maximum effect from sun and wind is
termed as 
Pmih ¦Óa_ÁºPÎÀ, `�¯ß ©ØÖ® PõØÔß AvP£m\ £¯ßPøÍ ö£Ö® 
ÁøP°À Aø©US® ÁÈÁøP¯õÚx CÆÁõÖ AøÇUP¨£kQÓx. 

(A) Prospect (B) Aspect 

 ÁÍÁõ´¨¦ (GvºPõ» £»ß)  TÖ£õk (÷uõØÓ®/{ø») 

(C) Grouping (D) Roominess 
 öuõSzuÀ (S¹¨¤[)  £μ¢u {ø» (÷£õx©õÚ AÍÄ)

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

151. Match the following drawing board sizes (in mm) as per BIS
standards  : 
C¢v¯z uμU Pmk¨£õmk {ÖÁÚ AÍÂß £i, RÌUPsh Áøμ£h¨ £»øP
AÍÄPøÍ¨ ö£õ¸zxP. 

(a) B0 1. 500 × 350 × 15 
(b) B1 2. 700 × 500 × 15  
(c) B2  3. 1000 × 700 × 25  
(d) B3  4. 1500 × 1000 × 25  

 (a) (b) (c) (d) 
(A) 1 2 3 4    
(B) 4 3 2 1     
(C) 4 3 1 2    
(D) 1 2 4 3  

(E) Answer not known 
  Âøh öu�¯ÂÀø» 
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152. The plan of the buildings and elevations and sections is
recommended (as per NBC) to a scale of 
Pmih[PÎß uøμ¨£h®, �P¨¦ ÷uõØÓ® ©ØÖ® SÖUS ÷uõØÓ[PÒ 
RÌUPsh G¢u J¸ AÍÄz vmhzvÀ (Gß¤] £i) £�¢xøμUP¨£kQÓx? 

(A) 1 : 10 (B) 1 : 100 

(C) 1 : 500 (D) 1 : 1000 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

153. Which among the following is NOT the important aim of building
drainage? 
RÌUPshÁØÖÒ Gx Pmih ÁiPõÀ Aø©¨¤ØPõÚ ÷|õUP® AÀ»? 

(A) To dispose off liquid waste as early as possible 
 vμÁU PÈÄPøÍ �i¢u AÍÄ ÂøμÁõP öÁÎ÷¯ØÖuÀ  

(B) To dispose off the storm water into open surface drain 

 vÓ¢u uøμ ÁiPõ¾US ©øÇ}øμ öÁÎ÷¯ØÖÁuØS   

(C) To prevent entry of foul gases from the sewer to the building 
 PÈÄ }ºU SÇõ°¼¸¢x PmihzvØS xº|õØÓ©õÚ Áõ²UPÒ 

~øÇÁøu uk¨£uØS  

(D) To supply required water from tank to the building 
 öuõmi°¼¸¢x PmihzvØS ÷uøÁ¯õÚ }�øÚ ÁÇ[PÀ  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 



 

   387 � Surveyor 
  [Turn over 

75

154. The system by which used and contaminated water is removed by
means of drains, is called as 
ÁiPõÀ �»® £¯ß£kzu¨£mh AÀ»x A_zu©õÚ uspº 
öÁÎ÷¯ØÓ¨£k® �øÓ CÆÁõÖ AøÇUP¨£kQÓx. 

(A) Storm water (B) Air gap 

 ¦¯À uspº  PõØÖ CøhöÁÎ 

(C) In takes (D) Drainage 
 Cß÷hUSPÒ  ÁiPõÀ vmh® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

155. A type of sewer section is used for the construction of large sewers
with heavy discharges such as outfall or trunk sewers and its height
is more than width. It is called as 
J¸ ÁøP ÁiPõÀ ö\Uåß (öÁmk�P®) ö£�¯ÍÂ»õÚ PÈÄPÐUS 
ö£¸©ÍÄ öÁÎ÷¯ØÓzvØS AuõÁx AÄm L£õÀ (PÈÄ }º ÷\¸ÁÈ) 
AÀ»x iμ[ ÁiPõÀPÒ (ö£¸[PÈUPõÀPÒ) Pmk©õÚzvØS £¯ß£kQÓx. 
÷©¾® Cuß E¯μ® AP»zøu Âh AvP©õÚx. CøÁ GÆÁõÖ 
AøÇUP¨£kQßÓÚ? 

(A) Egg-shaped sewer 
 �møh ÁiÁ ÁiPõÀ  

(B) Box sewer 

 ö£mi ÁiPõÀ 

(C) Horse shoe sewer 
 Svøμ ç (SÍ®¦) ÁiÁ ÁiPõÀ   

(D) Parabolic sewer 
 £õμõ÷£õ¼U (£μÁøÍ¯) ÁiPõÀ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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156. ������ is the organic matter deposited at the bottom of the
sedimentation tank during the treatment of the sewage. 
PÈÄ}º _zvP�¨¤ß ÷£õx £iÄz öuõmi°ß Ai°À £i¢v¸US® 
BºPõÛU (P�©¨) ö£õ¸ÒPÒ 

(A) Sewage (B) Sludge 

 \õUPøh  PÈÄ}ºU P\k/÷\Ö 

(C) Coagulant (D) Leachate 
 vøμ¨¤  Pøμ¢yÔPÒ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

157. ������ is the sewer that carries domestic sewage, industrial
sewage and storm water. 
������ PÈÄ}ºUSÇõ¯õÚx ÃmkU PÈÄ }º, öuõÈØ\õø» PÈÄ}º 
©ØÖ® ©øÇUPõ» PÈÄ}øμ Gkzxa ö\À¾®. 

(A) Storm sewer (B) Combined sewer 

 ©øÇ}º PÈÄ}ºU SÇõ´  TmkU PÈÄ}ºU SÇõ´ 

(C) Sanitary sewer (D) House sewer 
 _Põuõμ PÈÄ}ºU SÇõ´  Ãmk PÈÄ}ºU SÇõ´ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

158. What is the scale factor for a scale of 1/4 inch = 1 foot? 
1/4 A[S»® = 1 Ai GßÓ AÍÂØPõÚ AÍÃmkU Põμo GßÚ? 

(A) 48 (B) 64 

(C) 32 (D) 100 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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159. Which among the following is NOT the important consideration for
plotting in CAD? 
RÌUPshÁØÖÒ Gx CAD&À Aa]ku¾US ÷uøÁ¯õÚ �UQ¯ P¸uÀ 
AßÖ? 

(A) Selecting a scale for drawings 
 Áøμ£h[PÐUPõÚ J¸ AÍÄz vmhzøu ÷uº¢öukzuÀ  

(B) Composing a drawing layout 

 J¸ Áøμ£h Aø©¨ø£ E¸ÁõUSuÀ   

(C) Selecting text and dimension heights 
 GÊzx ©ØÖ® AÍÄ E¯μ[PøÍ ÷uº¢öukzuÀ  

(D) Creating an array of objects 
 ö£õ¸mPÎß AoPøÍ (array) E¸ÁõUSuÀ  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

160. �PLOT� command in CAD 
CAD À �PLOT� PmhøÍ¯õÚx 

(A) Creates a plot layout 
 ©øÚ vmh Aø©¨ø£ ÷uõØÖÂUQÓx  

(B) Controls the page layout 

 £UP Aø©ÄPøÍ Pmk¨£kzxQÓx   

(C) Displays the drawing as it will be plotted 
 Aa]h¨£kÁx ÷£õÀ, Áøμ£hzøu vøμ°À PõmkQÓx  

(D) Prints a drawing to a printer 
 Aa_¨ö£õÔ°À J¸ Áøμ£hzøu Aa]kQÓx 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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161. A CAD drawing is a file that consists of numeric data in
������ that will be saved into a disk. 
J¸ CAD Áøμ£h©õÚx J¸ ÁmiÀ ÷\ªUP¨£hU Ti¯ ������
EÒÍ Gs\õº uμÄPøÍU öPõsh J¸ ÷Põ¨¦ BS®. 

(A) Decimal form (B) Word form 

 £vß© ÁiÁzvÀ  Áõºzøu ÁiÁzvÀ 

(C) Binary form (D) Matrix form 
 ø£Ú� ÁiÁzvÀ  Ao ÁiÁzvÀ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

162. What is the use of function key F3? 
F3 ö\¯À£õmk R°ß £¯ß£õk GßÚ? 

(A) TABLET (B) OSNAP 

(C) ISOPLANE (D) SAVE AS 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

163. Which of the following file extensions cannot open AutoCAD? 
¤ßÁ¸® ÷Põ¨¦ }mi¨¦PÎÀ Gx Bm÷hõ ÷Pøh vÓUP �i¯õx? 

(A) dot (B) dwg 

(C) dxf (D) dws 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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164. Which of the following software is limited for Auto CAD installation?
¤ßÁ¸® ö©ßö£õ¸ÎÀ Bm÷hõ÷Pm {ÖÁ¾US Gx Áøμ¯ÖUP¨£mhx?

(A) Windows DOS (B) Windows 98 

 Âs÷hõì hõì  Âs÷hõì 98 

(C) Windows 03 (D) Windows 10 
 Âs÷hõì 03  Âs÷hõì 10 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

165. Scaling helps objects make them 
AÍÄ©õØÓ® (scaling) �»® ö£õ¸mPøÍ _________ BP E¸ÁõUP 
EuÄQÓx. 

(A) Bigger (B) Smaller 

 ö£�¯uõP  ]Ô¯uõP 

(C) Constant size (D) Both (A) and (B) 
 {ø»¯õÚ AÍÄ  (A) ©ØÖ® (B) 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

166. The shortcut command for a rectangle 
ö\ÆÁPzvß SÖUSÁÈ PmhøÍ GßÚ? 

(A) REC (B) R 

(C) RE (D) RET 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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167. Ctrl + N key strokes function is 
Ctrl + N R ìm÷μõUêß ö\¯À ÷|õUP® GßÚ? 

(A) Number command (B) New command
 Gs Pö©sm  {³ Pö©sm 

(C) Numeric command (D) Both (A) and (B) 
 {³©�U Pö©sm  (A) ©ØÖ® (B) 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

168. What you cannot create from the command offset? 
Offset PmhøÍ°¼¸¢x }[PÒ E¸ÁõUP �i¯õux Gx? 

(A) Concentric circles (B) Vertical straight 

 ø©¯ Ámh[PÒ  ÷|º ö\[Szx 

(C) Three parallel lines (D) Parallel arcs 
 �ßÖ Cøn ÷PõkPÒ  Cøn ÁøÍÄPÒ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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169. Which of the following are correct matches? 
RÌUPshÁØÖÒ \�¯õÚ ö£õ¸zu[PÒ GøÁ? 

(1) Ctrl + B � Snap on/off 

 Ctrl + B  ìÚõ¨ Bß ©ØÖ® BL¨ 

(2) Ctrl + L � Ortho on/off 

 Ctrl + L  Bº÷uõ Bß ©ØÖ® BL¨ 

(3) Ctrl + T � Tracking on/off 

 Ctrl + T  iμõUQ[ Bß ©ØÖ® BL¨ 

(4) Ctrl + G � Grid on/off 

 Ctrl + G Q�m Bß ©ØÖ® BL¨ 

(A) (2), (3), (4) (B) (1), (2), (3)  

(C) (1), (2), (4) (D) (1), (3), (4) 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

170. In AutoCAD, �Ortho� command is used to draw ����������� lines. 
Bm÷hõ÷PiÀ, �ortho� PmhøÍ°ß �»® _________ Á�PÒ Áøμ¯¨ 
£¯ß£kQÓx. 

(A) Inclined (B) Perpendicular 

 ö\[SzuõÚ  \õ´ÁõÚ 

(C) Polyline (D) (A) and (C) 
 £õ¼ø»ß  (A) ©ØÖ® (C) 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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171. Which command is used for move and rotate dimension text? 
AÍÃkPÎß öhUìmPøÍ |PºzxÁuØS® _ÇØÖÁuØS® G¢u PmhøÍ 
£¯ß£kzu¨£kQÓx? 

(A) DDEDIT (B) DIMTEDIT 

(C) QDIM (D) DIM  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

172. Mid point snap means 
|k¦ÒÎ ìÚõ¨ Gß£x 

(A) Mid point of a line (or) Arc  

 J¸ ÷Põk AÀ»x ÁøÍÂß ø©¯¨¦ÒÎ   

(B) Mid point of block 
 öuõSv ø©¯¨¦ÒÎ 

(C) Mid point of weight  
 |k¦ÒÎ Gøh   

(D) Mid point of tolerances 
 ö£õÖv°ß |k¦ÒÎ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

173. Which command is used for modifying dimensions? 
AÍÃkPøÍ ©õØÓ G¢u PmhøÍ £¯ß£kzu¨£kQÓx? 

(A) DDEDIT (B) DIMTEDIT 

(C) QDIM (D) DIM 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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174. Which is not a dimension edit commands? 
CvÀ Gx AÍÃkPøÍ v¸zx® PmhøÍø¯ \õμõx? 

(A) Override (B) New text 

 ÷©ö»ÊuÀ  ¦v¯ Eøμ 

(C) Oblique (D) Spline 
 \õ´¢u  ì¨ø»ß 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

175. Which of the following matches are correct regarding function of
commands? 
RÌUPsh ö£õ¸zu[PÐÒ PmhøÍPÎß ö\¯À£õkPÒ SÔzuõÚ 
\�¯õÚøÁ GøÁ? 

(1) DIMTEDIT � Moves and rotates dimension text 

 DIMTEDIT  |PºÄ ©ØÖ® _ÇØÖ £�©õn Eøμ 

(2) QDIM � Modifying dimensions 

 QDIM  AÍÃkPøÍ ©õØÖuÀ 

(3) MTEXT � Editing text 

 MTEXT Eøμ v¸zxuÀ 

(A) (1) only (B) (2) only 

 (1) ©mk®  (2) ©mk® 

(C) (3) only (D) (2) and (3)  
 (3) ©mk®  (2) ©ØÖ® (3) 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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176. Match the following CAD commands with its use. 

RÌUPsh CAD PmhøÍPøÍ Auß £¯ß£õmkhß ö£õ¸zxP. 
(a) EXTEND 1. Extends the dimensions of a 2D object 
 EXTEND  J¸ C¸£�nõ©¨ ö£õ¸Îß AÍÄPøÍ

}miUQÓx 
(b) EXTRUDE 2. Extends objects to meet the edges of 

other objects  
 EXTRUDE  ¤Ó ö£õ¸mPÎß ÂÎ®¦PøÍ öuõh

ö£õ¸mPøÍ }miUQÓx 
(c) HATCH 3. Fills an enclosed area with a pattern  
 HATCH  J¸ �i¯ £μ¨¤øÚ J¸ £õo°À

{μ¨¦QÓx 
(d) FILLET 4. Rounds the edges of objects  
 FILLET  ö£õ¸mPÎß ÂÎ®¦PøÍ ÁøÍÁõUSQÓx

 (a) (b) (c) (d) 
(A) 1 2 3 4 
(B) 2 1 3 4  
(C) 2 1 4 3 
(D) 4 3 2 1 
(E) Answer not known 
 Âøh öu�¯ÂÀø» 

177. Which command is used for creating multiple copies of objects in a
pattern? 
J¸ £õo°À £» |PÀPÍõP ö£õ¸mPøÍ E¸ÁõUP EuÄ® PmhøÍ Gx? 

(A) ALIGN (B) ATTDEF 

(C) ARRAY (D) MIRROR 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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178. Which command is used for extending objects to meet the edges of
other objects? 
¤Ó ö£õ¸mPÎß ÂÎ®¤øÚ öuõkÁuØS ö£õ¸mPøÍ }miUP EuÄ® 
PmhøÍ Gx? 

(A) LENGTHEN (B) EXTEND 

(C) STRETCH (D) TRIM 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

179. Which command is used for moving objects a specified distance in a
specified direction? 
J¸ SÔ¨¤mh vø\°À J¸ SÔ¨¤mh yμ® ö£õ¸mPøÍ |PºzxÁuØS 
£¯ß£k® PmhøÍ Gx? 

(A) MLINE (B) HATCH 

(C) MOVE (D) GROUP 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

180. What is the system to locate a point by its distance and angle of the
co-ordinate system? 
B¯ Aø©¨¤ß öuõø»Ä ©ØÖ® ÷Põn® �»©õP J¸ ¦ÒÎ°øÚ 
Aø©¨£uØS E�¯ Aø©¨¦ Gx? 

(A) Cartesian co-ordinate (B) Polar co-ordinate 

 Põºmj]¯ß B¯®  ÷£õ»õº B¯® 

(C) Relative co-ordinate (D) Absolute co-ordinate 
 \õº¤¯À B¯®  \õº¤»õ B¯® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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181. The instrument used for setting up north orientation in plane table
survey is 
\©uÍ £»øP \º÷Á°À ÁhUS vø\¯ø©Ä Aø©UP £¯ß£k® P¸Â 

(A) Magnetic compass 
Põ¢u vø\Põmi

(B) Trough compass 

 mμL¨ vø\Põmi (iμL¨ Põ®£ì) 

(C) Sprit level  
 μ\©mh® (ì¤�m ö»ÁÀ) 

(D) Alidade 
 A¼÷hm   

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

182. The large size of plane table is 
\©uÍ ÷©ø\°ß (¤÷Íß ÷h¤Îß) ö£�¯ AÍÄ GßÚ?  

(A) 750 mm × 600 mm × 15 mm  (B) 700 mm × 600 mm × 15 mm

(C) 710 mm × 610 mm × 15 mm (D) 720 mm × 610 mm × 15 mm

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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183. The first temporary adjustment to be done after setting up the plane
table at any station will be 
\©uÍ £»øPø¯ G¢u ì÷håÛ¾® Aø©zu ¤ÓS ö\´¯¨£k® �uÀ 
uØPõ¼P \� ö\´uÀ GßÚ? 

(A) Sighting (B) Levelling 

 £õºøÁ  \©ß£kzxuÀ 

(C) Centering (D) Orientation 
 ø©¯¨£kzxuÀ  ÷|õUS{ø» 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

184. ������ consists of a small metal tube which contains a small
bubble at centre. 
J¸ ]Ô¯ E÷»õPU SÇõø¯ ö£õ¸zu¨£mk, Cuß ø©¯zvÀ ]Ô¯ }ºU 
SªÈø¯U öPõsk°¸¨£x GßÚ? 

(A) Alidade (B) Sprit level 

 A¼÷hm  ì¤�m ö»ÁÀ (μ\©mh®) 

(C) Plumbing fork (D) Telescopic 
 ¤Í®¤[ L÷£õºU  öuõø»÷|õUQ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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185. In plane tabling the instrument used to measure horizontal and 
vertical distances directly is known as 
¤÷Íß ÷h¤À \º÷Á°[QÀ Qøh©mh ©ØÖ® ö\[Szx yμzøu ÷|μi¯õP 
AÍÂh £¯ß£k® P¸Â ����� GÚ AÔ¯¨£kQÓx. 

(A) Plane alidade (B) Telescopic alidade 

 \©uÍ A¼÷hm  öuõø»÷|õUQ A¼÷hm 

(C) Tacheometer (D) Clinometer 
 ÷h÷Põ«mhº  QÎ÷Úõ«mhº 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

186. Match the following methods of plane table surveying 
RÌPsh ¤÷Íß ÷h¦À \º÷Á°ß ÁøPPøÍ ö£õ¸zxP  

(a) Radiation 1. Only one station  
 ÷μi÷¯åß  J÷μ J¸ ì÷h\ß 
(b) Inter section 2. More than station  
 Cßhºö\Uåß  AvP¨£i¯õÚ ì÷h\ß 
(c) Traversing 3. Two station  
 iμõÁº][  Cμsk ì÷h\ß 
   4. Three station  
    �ßÖ ì÷h\ß 

 (a) (b) (c)  

(A) 1 3 2  
(B) 2 3 4   
(C) 4 2 1  
(D) 3 4 2 
(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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187. Detailed plotting is generally done by 
Â�ÁõÚ ÁøμuÀ ö£õxÁõP ����� �øÓ �»® ö\´¯¨£kQÓx. 

(A) Radiation (B) Traversing 

 ÷μi÷¯åß  iμõÁº][ 

(C) Resection (D) Intersection 
 �öéU\ß  CßhºöéU\ß 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

188. The Intersection method is mainly used for  
G[S öÁmk® �øÓ (CßhºöéU\ß �øÓ) �UQ¯©õP¨ 
£¯ß£kzu¨£kQÓx? 

(A) Dam construction (B) Mapping details  
 Aøn Pmk©õÚ®  Áøμ£h ÂÁμ[PÒ 

(C) Road (D) Building  
 \õø»  Pmih® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

189. Plane Table, traverse involves the same principle as a  
\©uÍ AÍUøP £»øP, iμõÁºêÀ ���������� J÷μ öPõÒøPø¯ 
EÒÍhUQ¯x. 

(A) Non Transit Traverse (B) Transit Traverse 

 |õß iμõßêm iμõÁºì   iμõßêm iμõÁºì

(C) Sighting Traverse (D) Non Sighting Traverse 
 £õºøÁ Ph¢x  £õºøÁ¯ØÓ £õøu  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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190. Abney level used to measure  
A¤Û AÍøÁ (A¨÷Ú ©mh AÍÂ) �»® Gøu AÍÂh £¯ß£kQÓx?  

(A) Horizontal angles  

 Qøh©mh ÷Põn[PÒ   

(B) Inclined steep angles  
 \õ´¢u ö\[SzuõÚ ÷Põn[PÒ 

(C) Vertical angles  
 ö\[Szx ÷Põn[PÒ   

(D) Negative angles  
 Gvº©øÓ ÷Põn[PÒ

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

191. A clinometer is used for  
J¸ QÎ÷Úõ«mhº GuØPõP £¯ß£kzu¨£kQÓx? 

(A) Measuring angle of slope  

 \õ´Âß ÷Põnzøu AÍÂkuÀ   

(B) Correcting line of collimation   
 £õºøÁ ©mhU ÷Põmøh \�ö\´uÀ 

(C) Setting out right angles   
 \�¯õÚ ö\[Szx ÷Põn[PøÍ Aø©UQÓx   

(D) Defining natural features  
 C¯ØøP A®\[PøÍ Áøμ¯ÖUQÓx  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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192. Which among the following is NOT a advantage of the plane table
surveying? 
RÌUPshÁØÖÒ Gx uÍ AÍUøP¨£»øP AÍUøP°¯¼ß J¸ |ßø© 
AÀ»? 

(A) It is used in magnetic areas also  
 Cx Põ¢u Âø\¨ £SvPÎ¾® £¯ß£kzu»õ®

(B) All the plotting work including contouring is done in the field 

 \©ß ÁøμuÀ (Põsl�[) Em£h AøÚzx Áøμ£h ÷Áø»PÐ® 
PÍzv÷»÷¯ ö\´¯¨£kQÓx   

(C) The accuracy of the plot can be ascertained as the work 
progresses in the field   

 PÍzv÷»÷¯ £o öuõhºÁuõÀ, Áøμ£hzvß xÀ¼¯zußø© 
EÖv¨£kzvh �iQÓx 

(D) It is suitable for work in wet climate and high wind 
 Cx Dμ©õÚ Põ»{ø»PÎ¾® ©ØÖ® AvP PõØÖÒÍ Ch[PÎ¾® 

÷Áø» ö\´vh ö£õ¸zu©õÚx   

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

193. The blue printing process is the simplest one of reproduction of 
drawings, drawn by  
¦Ñ ¤�si[ ö\´�øÓ Áøμ£hzøu ���������� �»® ©Ö u¯õ�¨¦ 
ö\´ÁvÀ Cx ªPÄ® GÎø©¯õÚ �øÓ¯õS®. 

(A) Folding (B) Tracing 

 ©i¨¦  i÷μ][ 

(C) Colouring (D) Inking  
 P»�[  C[Q[  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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194. ___________ is also similar to the blue printing method. 
���������� CxÄ® ¦Ñ ¤�sm �øÓ ÷£õßÓxuõß. 

(A) Ammonia process (B) Sulfur process 

 A®÷©õÛ¯õ ö\´�øÓ  \À£º ö\´�øÓ 

(C) Chloride process (D) EDTA process 
 U÷Íõøμk ö\´�øÓ  EDTA ö\´�øÓ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

195. The instrument which is used in plane tabling for obtaining
horizontal and vertical distances directly without resorting to
chaining is known as 
\[Q¼ø¯ |õhõ©À ÷|μi¯õP Qøh©mh ©ØÖ® ö\[Szx yμzøu 
÷|μi¯õP ö£ÖÁuØS \©uÍ AÍUøP £»øP°À £¯ß£kzu¨£k® P¸Â 
���������� GÚ AøÇUP¨£kQÓx. 

(A) Plans alidade (B) Telescopic alidade 

 \©uÍ A¼÷hm  öuõø»÷|õUQ A¼÷hm 

(C) Clinometer (D) Tacheometer 
 QÎ÷Úõ«mhº  ÷h÷Põ«mhº 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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196. Which of the below is not a method of doing resection?  
R÷Ç EÒÍÁØÔÀ Gx ¤�zöukUS® �øÓ (�ö\Uåß) AÀ»? 

(A) Back sighting  

 ¤ß £õºøÁ   

(B) Solving two point problem  
 Cμsk ¦ÒÎ �øÓ°À wº¨£x 

(C) Solving three point problem  
 �ßÖ ¦ÒÎ �øÓ°À wº¨£x   

(D) Solving four point problem 
 |õßS ¦ÒÎ �øÓ°À wº¨£x 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

197. It is necessary to go to one of the plotted stations in the method of
resection by 
¤�zöukUS® �øÓ°À vmhªh¨£mh {ø»¯[PÎÀ JßÔØS GÁØÔß 
�»® ö\À» ÷Ási¯x AÁ]¯® 

(A) A back ray  

 ¤ß PvºPÒ (÷£U ÷μì)   

(B) Trough compass  
 öuõmi vø\UPõmi (iLμ¨ Põ®£ì) 

(C) Three point method  
 �ßÖ ¦ÒÎ �øÓ   

(D) Two point method  
 Cμsk ¦ÒÎ �øÓ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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198. The other name for Bessel�s method is called as  
ö£\Àì �øÓ°ß ©ØöÓõ¸ ö£¯º 

(A) Mechanical method (B) Trial and error method 

 C¯¢vμ �øÓ  ÷\õuøÚ ©ØÖ® ¤øÇ �øÓ 

(C) Graphical method (D) Traverse method 
 ÁøμPø» �øÓ  £¯n �øÓ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

199. In the plane table surveying, Bessel�s Graphical Method is adopted
for the solution of  
¨÷Íß ÷h¤Ò \º÷Á°À, ö£\Àì ÁøμPø» �øÓ RÌUPshÁØÔß 
wºÄUS £¯ß£kzu¨£kQÓx. 

(A) Two point problem (B) Three point problem 

 Cμsk ¦ÒÎ PnURk �øÓ  �ßÖ ¦ÒÎ PnURk �øÓ 

(C) Traversing problem (D) Graphic triangulation  
 iμõÁº][ PnURk �øÓ  QμõL¤U(ÁøμPø») �U÷Põn®

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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200. Which of the following Statements are True about errors of 
manipulation and sighting in plane table surveying?  
uÍ AÍUøP £»øP AÍUøP°¯¼À øP¯õÐuÀ ©ØÖ® Põn¼À HØ£k® 
¤øÇPÒ SÔzuõÚ RÌUPsh TØÖPÎÀ \�¯õÚøÁ GøÁ? 

I. Inaccurate sighting or bisection causes error in plotting 
 xÀ¼¯ªÀ»õU PõnÀ ©ØÖ® C¸\©U TÔhÀ Áøμu¼À ¤øÇø¯ 

HØ£kzxQÓx. 

II. If the alidade is not pivoted properly on point, the rays drawn 
will be in error.  

 J¸ ¦ÒÎ°ß ÷©À A¼÷hhõÚx \�¯õP _Ç¼¯US ø©¯©õP 
Aø©UP¨£hõÂmhõÀ, Áøμ¯¨£mh Áøμ PvºPÒ ¤øÇ¯õP 
Aø©²®. 

(A) I only (B) II only 

 I ©mk®  II ©mk® 

(C) I and II (D) Both are incorrect  
 I ©ØÖ® II  Cμsk® \�¯õÚ TØÓÀ»  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

 




